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I. To. encourage voter'.s participation in the 
dénocratic process 'National Voter's Day' 

is celebrated in India on - 

(a) l November (b) 5(11 June 

•(c) 8 March• (d) 25111  Januay 

1fid 1i [c1lc1131 it l5 

1n!, iRT 11(1ICB iiroiicir 

(a) i'itl (b)5Tl 

(C) 81I (d) 25M'ZItl 

Match List — I with List — II and select the 
correct answeI from the codes given below- 

List—I 

A) Fundamental Duties 

B) The concept of Basic Features of the 
Constitution 

C) Abolition of (Jntouchabihty 

D) Aipendment of the Indian Constitution 

Lit 11 

1) •t. 17 

.2) ArL368' 

3) 42M Amendment 

4) Kesáwanand Bharati Case. 

• Code: 

A 

(a). 4 

(b) .3 

• .(). . 

(d) I  

.2.
cT1' I:4t. 

A) 11ia ct)o& 

B) t3TtiT1 

C) 3qçi5T3 

.D) 

-ll. 

1) 31tiG17 

2) .3t368 

3) 42 tR 

4) ii "{ 

.A 

(a) 4 1 2 

(b) 3. 4 2 

(C) 3 . .. :2. . . 1 .. 

(d) 

The maximum duration of 'Zero — Hour' in 
the Lok Sabha is ---- - 

(a). . :30 minutes (b) . 60 minutes. 

(c). 2 Hours (d) indefinite period 

Who advises the state.-govçrnment on legal 

matters? . 

(a) Attorney General 

(b) .. Advocate General. : 

(c) :Chief-Justice of High Court 

(d) None of the above 

ct-I1T 

(a 30 fH (b) .60  

(9) 2 •. (d) 311l1th1 cplc1 

4. - c1I1ril 1iq'.i'i tR 'u.4 '1'c1)I'( 5I ct11 

• . 

(a)  

(b)  

• . (C) 
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The courts in India can interfere in lectoral 
mailer only: 

(a) Qn the basis of PUblic nteresl petition. 

(b) . On the basis f Election petition. 

(c On thebasjs ofri:vate interest petition. 

(d) On the basis of Group inlerest.petUioii. 

6. Given below are Iwo statnients; One. 6. 
labelled as .ssertioii (A) and the oilier 
labelled as Rcaon (R) — 

Assertion (A) : The PresideOt is a part of 
ParJ,ament 

Reason (R): A bill' passed .h' 'the two. 
Houses of parlian-ient ., 
cannot become law without 
the assent of the President 

In the context Of the above stateAintswhjch 
on of the following is orrect9  

(a) Both. A' and 'R are true and 'R' is 
Ihc correu explanation of 'A 

(b) Both A and R' aie true but R' is 
not i correct explanation of A 

(c) A' is Er but "R' sfalse. 

(t!) •A' is false but'.R' istiu. 

7. •. Which wrIt :is issued by tFeHigh Couit to the 
Jowcr.couiis to stop legal actions? 

(a) .}'Jabeas COrpUS 

(b) Prohibitión 

(c) .Qucr .Warran(o 

(d) Certiorari 

WhichT on of the fol low Wig tasks is not 8. 
PCI formed by the Election Commission9  

(a) Preparing the electoral rolls 

(b) Setting up polling-booths 

() Implementing the model code of 
conduct 

(d)' Supervising the Panchiyat Elections 

() jjctjc, 'jjiiiciec' qi' cD'.ji I 

(b) tII UTRRTI 

(C) 

(d) .  
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(Art 356 

Art. 360 

P.T.O. 

q Whuh of the tollowutg article' wa 
judicially reviewed in tue 'S R Bomma s 
Case' by the ante Judges Bench of the 

Court. 

.358. 

o is the' guardian bf public fithd in 'India?: 

President 

(b) Prime Minister' 

) inance Minister 

ComfroUer and Auditor General 

t  

() 3i 352 (b) 3T356 

(c) 31 358 (d) 31. 360 

10.  

(a) .qRi 

• (c). 

Ait 3 70 Of the Indian Const.itutipn is: 

• (a) a .p'erInaneitprOV1Si01t 

(b) a regular. provis.ioir 

(c) a temporary transit'onal provicion 

(d) None of the above  

H 

(a)  

(b) i3tT1 

• 4qutctic..i ql 

(d) iic  

Consider . tfje following ters . and arrange 
them in chronological rder- 

I) Law . II) Bill 

III) Proposal IV) Act 

Select the correct answer from the codes 
given below - : . 

(a) II, Ill, I IV (b) IV, 11111, 1 

(c) Iii,", IV, I. •'. (d) 'II, IiI,I,.IV 

13. ' Whichone. of the foUowing.fetureSiS not. 
correct aboUt the I writ- committee of the 
Indian Parliament? ........ . 

(a) It consists of 15 members 

(b) All members are nominated by the 

.. 

• Minister of Law and Justice must be 
its member 

; If Deputy - Speaker is its member he 
heads the committee 

.: . HRMCE p1/A 
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UI) . IV) 3$11!z1Tr 

(a) 'ii;.ui, I, IV (b) :IV II, UI, I 

(C) IlL IL IV. I (d): 11,111. LIV 

13. ii'i1T iic 1iEcDI i11i i1t1sci 

(a) • 15't1ci*.i tl 

- (b) . 't1c<4 ci'h 1W 3TZT RT-ii11iit)C1 

1'
•• ..••*. 

(C) fi1 11ZT W f 

3TF1ci)tI . . . 

(d) .zij iiaT icW 'i1&i 5T 



14. Choose. your correct answerfrorn the options 
given below regarding the number of stales 
and Union Fcrritones m India7  

(a) 28 States and 6 Union Temtories 

(b) 29 States and 7 Union Terntones 

(c) 29 Sl1fles and 6 Union Territories 

(d) 28 States and 5.lJnjon Tei+itories 

• l5 Which of the following is no jncluded in the 
list of Fundamental Duties in the Artiàle 51 
(A) of the Indian Constitution? 

• (a) To Caste: o(e in general electiOns. 

• (b) Tovalue and prese'rve the rich 
heritage of our composite culture. 

to develop the scientific temper 

To uphold and protect the sovereignty, 
unity and integrity Of India.  

14. W1* ui ?rn  

i1L'- 

28 q Q 6 -i1c : 

29 7. iifjci .. 

29 (io.1 , 

28 (i.l 5 iifi i 

15. 4.1R11ci c . 
iR .i. si (as) *  * 

. 

(a)  

(b) €ii1fq 
15'I 1-icU 9T1?  

(C) *fc1c1 ci'(.jil 

(d) di31'9uSc11 

• (c) 

(d) 

• 16. Consider the following stàlënents regarding 
National Human Rights Corümision :of 
India and give the correct answer - 

(a) It was.oiganised in 1993. 

(b) Its president and members are 
appointed bythe President of Jndia.. 

() The Piesidcn( of NHRC' must be 
•retird Chief Justiceof India. 

(d) All olth'e above are correct. 

1 7 WhiLh of the following is not found today a 
gencial chaiacteristic of the party sstern in 
India 

(a) fragmentation and polarisation of 
parties 

(b) Most of thepaaies arebased on 
ideology and concernedwith natiOnal 
interest. . 

(c) Personality — oriented political parties 

() Mushrooth growth fp!itil paiès 

HRMCE P1/A 
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I?5 'tii1-ifr I'dJ '1e t 

(a) I 

(b)  

• • fT1kri 

(C) 0 r - Ioi-iu1ld)fl 

• (.d): ti'i j*i 

fH'1rcii 1fff  

(a) rlo-,1gg3*ar1l 

(b)  

Igi,iicl 

1T rr 3R 5T3r5T31dc1I 

igctit  



1n..hich.of the following years 
'Swavalarflban Scrieme was launched as a 
function of the welfare state it India9  

Oct 2012 (b'i Sept 2014 

Jan.2011 (d) Sept. 2010 

Whichof the following ftudamental rights is 
not available to foreign citizens? 

(a) Equality before law. 

(b) Freedom of expression 

(è) Right to Life and Personal Liberty. 

Right against exploitation. 

tcb IdllT 5 5R RT 

  L1Tr i1i1t 

(a) ,32O12 (b) f!d2O1 

(C) , TI2Q11 (d) t4TP2O1O 

±1 T 3T5R 

(a) JPt&T"1HHc1I 

(b) 3d-1dt 

(C) 

;.:(d) ifi 

20. With reference to the reservation of seats for 20. 
women in Panchayat Raj institutions which 
'of the following statement/s is/are correct? 

I): it is provided for in Art. 243 D (3) of 
the Indian Constitution. 

The reservation shall cease to have 
effect on expiration of the. 'period 
specified in Art. 334. 

(a) 1on1y .(b)2 only 

(c) Both land 2 ,(d) Neither lnor 2., 

it fw 3u' 

2T1 

1) 

TIT1T1 

31WT 39 334 f 3T% 

iiiTci q .if 'tè'irl 

(a) 

(C) 1?12Tl2c1'T (d) t13th2 

Which sector contributes 'maximum share ii 
the' National Income fIndia? 

(a) '. Agricultural Sector •. 

(b) [ndutrial SectOr ' .. .' 

(c) S'evice Sector ' . . 

(d) None of the above. - . ' . 

Taxes raised are credited into: 

• (a) Consolidated Find 

(b) 'Contingency Fund 

(c) , Public AccOunts 

(d) Private Accounts 

HRMCE P1/A 
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(a) 15t 

(b') jit 

(C) 15T 

(d) 

22. 

(a) u1xi  

'(b) 3II1ct ct1 * 

(C). ii4 iTh 

(ci)  1* " 

P.T.O. 



23: Which Five, Year Plan has laid emphasis ó 
Faster, Sustainable and Inclusive growth 

(a) Eleventh Five Year Plan 

(b) Twelfth Five Ycai Plan 

() Tenth Five Yeai Plan 

(d) Ninth Five Yatf]an. 

24. The ecohorni development process is 
concerned with - •. 

(a) a rise in per capita income. 

(b) arise in perceitage of G.DP. 

(c) changes in the structure bfeconómy. 

•(d) allofthe above 

25. The Cental Banking Functions in India are 
performed by: 

(a) Central Bank 

(b) SB! 

(c) RB1 

(d) Both (b) aid (c) 

26. The income ta,. in Iiicli is 

(a) Direct .an Proportional 

(b) Indirect and irogressivc 

(c) Direct and Piogiessive 

(d).. Indirect and Proportional 

Consider [he following slat ei1eTts 

I) India has attained sclt-sufliciency in 
almost all consuiiier ods; 

2) For capital goods India stil.l depends on 
imports. 

Select the correct answer using the code 
given below : 
Codes: . 

(a) I is true but 2 is false 

(b) 2 is true but I is lalse. 

(c) Both I and 2 are true, 

(d). BOth .1 and 2 arefalse. 

HRMCE P1/A 

27. 

1) %1RT 3c1J1c 'T 3tflff 13ft 

31Tk1 5I 

i1T 3t 5 1-i 

(a) .1  521iiic1l. 

(b)  

(C) 

(d) 13k21'jIc1crj. 

2 

2 



28. 

'During the last decade, a. perception is 
growing in the world that China and India 
are becomiiig two major  in the world' 

Codes: . 

economic superpowers 

atomic. superpowerS 

political uperpOWerS 

None of the above 

HRMCE. P1/A 

28 If the Cash — Reserve Ratio is tower.d by the 
RB.L; what will be its impact on credit - 

creation9  

ça) 'Will get decreased. 

b) Will get increased. 

è). Will have rio impact. 

(4) None f the above impacts. 

Whith institute estimates National Income 
of India? 

(a) I.S.I. 

(b) R.B.I. 

(c) C.S.O. 

(d) NABARD 

'Gi1t — edged' market means: 

(a) market o?.guns. - 

• (b) rnarket.of government securities. 

• (c) . bullion market. 

(d) market of pure metals. 

'ECOMARC' symbol is related to: 

(a) Export goods. 

(b) import goods. 

(c) Best quality goods. 

(d). Goods safe for environment.  

3'. 15 rfii *: 

(a) af?I 

(b) 33fl 

(C) 'ticilcrH  

(d) q fui  

32.. . Fill in the blank from the codes given below: 32. 
___ 

31T f. 1 HI-.ldI 1t c1 

'(I' • 

(a) 311 iiiRiii 1 

(b) • ____ 

(cy iflci, 41lI1t14i : 

(d) 

P.T.O. 



• 33; Which of the following commodities has 
highest export from India in 2017? 

(a) Agriculture.ancj allied products. 

(b) Chemicals 

(c) Exigineeriiig goods. 

(d) Text•iks = 

34. TRAl' is a regulatpry body associated with 
which of the following sectors 

(a) Transport (b) .Tdurisni 

(c) Telecom (d) Technical. Education 

35. Consider the following statements 

Assertion (A) : PAiscal deficit of Indian I 
Government as a percehtage 
of GDP was higher in 2017- 
I as compared to Budget 
estimates. 

Reason (R) Growth iti indirect tax 
collection was relatively 
lowe during 2017-18 on 
account of introduction of 
GST. 

Choose the correct answer from the code 
given below : 

Code: 

(a) Both (A) and (R) are true.and (R) is 
the con-eel explanation of(A). 

(b) I3oth (A) and (R) are truebut (R) is 
not the correct explanation of(A). 

(c) (A) is true but (R) i false. 

(d) (A) is false but (R) is true: 

36. 'special Drawing Rights' (SDRs) is 
available at : 

(a) IBRD / World 13ank 

(b) IMF 

(c) liiteniatidnal DeveJopmen Association 

(d)OECD 

rr  • 5T 
Ii115 r 

(a) 1 t l 

(b) 'eiii-il 

(d) l 

34. • rHrr r1 

(b) qzr 

(d)  

35.  

• 5R(A): 

'd'(Q)I'( 5T iict1q th.t 2017-18 

oi31i ¶C11i *31%5 Tl 

ct,I-uI (R): 

1I)RuI 

: 

(a) (A)(R)-?i  (R), (A)T<  

(b) (A) rr (R) dH '  , f5 (A) (A)T -i 
ci,'ui .i l 

(C) (A).  ,(R)ieii*l 

(d) (A)Ic1d,(R)*I 

36. 'f3iiui 3T1FC (SDRs)T: 

(a.). 31T. . 3i/ i 

(b) l. 1N5. I 

(C) i*1iici q i iti-i 

(d) 

FIRMCE P1/A 10 



37 The r'aln reon toy the high grw' o 
money supply in Iowa .ince 1990 is 

(a) Taxation 

tb) Foreign borrowing 

(c) RB! credit to' the government 

(d)' Budgetary expenditure 

Which one is the apex institution in the 
sphere.of agricultural financing in India? 

(a) Corporation Bank 

(b) Co-operative Bank 

(c) Regional Rural Banks. 

(d) : NABARD '. 

The author of 'Plannd Economy for India' 
is.:' ' 

(a) Sir..M. Visvesvaraya 

(b) Dr. K. P. Mathur 

(c) K. .M.Munshi 

(d) C. V. Raman 

40. India gets the largest share of its G.D.P. from 
which of the following sectors? 

(a) , 
 Agriculture Seëtor 

(b) Endustry Sector 

(c) Service Sector 

(d) None of the above  

37. 1990 lR ur 

(a) 

(h) ?i'TI 

(C) 3TF. . J'&I \9'&ci)R 

ct*ITI 

(d) ZIcl 

38. 

(a) qTT5 

(b) 'ticI,I' act) 

(C) 4IUIt5 

(d) .itt 

39. ,  4l4)R 5*: 

(a) 1acw:1T 

(b) 5.1IT 

(c) T 

(d) .t*-i 

40. :r:r i jctx1 ,$cqit (GDP) 5I '1  

(a) pi. 

(b) :d1r 

(C) 

(d) iiI 

4!. Which of the following is.no,t the function of 
Reserve Bank of India (RB!)? 

.(a) Issue of bank notes. 

(b) flanker to Government. 

(c) To open saving bank account for 
general public. 

- (4) Custodian of cash reserves of 
Commercial Banks. 

HRMCE P1/A 

4( H-{ crl±IT cb14 fi -cP (RB.!.) 

(a) ii'ct11I 

(b)  

(C)'' 'tIl-ll iiifth1 I(1Nilc1'1iI 

(d) 
T5'HII 

P.T.O.. 



'n r 5 fu 3TI5  

(a) ITIT 

(C) Ikiii-si 

The Data Security Council of India (DSCI) 
of NASSCOM signed an agreement with 
which sttc-govemmcrit to.sct up the :'Cenirë 
of ixcellencc' [or cyber security? 

(a). Andhra Pradesh (b).Tgrnjj Nadu 

(c) Telarigana. .. (d) Karnataka 

43. The 14th Finance Commission'. 
recommended, among 'other things, to raise 
the shareof states in the net proceeds of 
divisible pool ofcentràl tax to; 

(a) 32%. (b) 29.5% 

(c) 45% (d) 42% 

44. ., The first. Decndayal Handiciaft Saiikul' 
trade facilitation centre i located at::  

43 'k Icf3TrT 33353T1Ef 

(a) 32% (b) 29 5% 

(c) 45%, ': , :. (d)-4: 

44 T1 cl'ic1 cLctx1( 'igei o44j'('.. 

(a) Prayagraj 

(c) •Kanpur 

(b) Agra 

,- ,(cl) Varanasi  

(a) 

(C) 1(' 

45. i'hc Union Budget is presented under which 
Article of the 'Constitution Of India? 

:(a) '11(1': (b)1ll:: 

(c) 112'. (d) 122 

46. , Consider the following statements: 

Assertion (A) India s position is second 
in the world in fresh water 
fish production. 

Reason (R): In India there ar more than 
I 8000 lypeof fishes found 

Choose the correct anwcr iron-i the codes 
givc below

. ' 
codc:.: . 

- (a). (A) and ('R) both arc' correct and (R) is 
The correct explanation of(A). 

(b) (A) aid (R) both are correct but (R) is 
not the corret explanation of(A). 

() (A) is Lorrcct and (R) is false 

(d)- (A)'is,lids'eand (R) is correct. 

45.. ¶. 

(a) 110 

(c)' 112 

46. 1o1')q2:rrr 

52f(A): dl .jçq 

ctu, (R) R1 18000 t 315 ft,i 
11iic l 

-  1àlZ 'J1? ,c. '1w-ic1l - i) ici' 

(a) (A) rir (R) c.i'1 -i) ?T211 (R) A) 
O91fl 

(b) (A)3th(R))' f5(R)(A)t 
.l9qi 'i'l 

(C) (A)  1Je11i' 

HRMCE Pl/. ' - 12 



49. 

With reference to the 'Jal Kranti Abhiyan' 
; which of the following statemenU is late 
correct? 

1)' To increase livelihood security through 
water security in rural areas. 

Adoption and utilization of traditional 
knowledge in water conservation and 
its management. 

Select the correct aPset using the codes 
given below,: 

(a) I only , (b) 2 only 

(c) Both, I and 2 (d) Neither I nor 

.48. . Consider the following statements: 

I Assertion (A) : Much labour is not required 
for cultivation of wheat. 

Reason (R): li the cultivation of wheat, 
equipments are used more. 

Give, the correct answer with the help of 
codes given below: . 

(a) (A) and (R)'both are correct and (R) 
is the correct explanation of (A).. 

(b) (A) and (R) both are correct and (R) is 
not the correct explanation of (A).,, 

(c) (A)is correct and (R) is false. 

(d) (A) is false arid (R) is correct, 

47.  

48.  

R(A):  

iiciii 

(a)' (A) 3 (R) c)-If  ir (R) (A) 
cj'I 

(b) (A) 3t (R) 'l.if  (R) (A) 

(C) (A) (R) cii 

(d) ' 

49. ' Match List — I with List II and select the 
correct answer from the codes given below: 

List — I ' 'List — II 
(State) . . (Atomic Power sta'tion) 
'A) Gujarat. ' I) Rawatbhata 

B) Maharashtra 2) Kaiga 

C) Karnataka ' 3) Kakrapar. 

D) Rajasthan . 4) Tarapur 

'Code':. . . 

A: . , C, ' D 

2 4 3 

4 2 1 

1 .3. 4 

2 

HRMC'E P1/A ' 13. 

A) i'Jci 1) mrin'r 

B) ' i-ii'i ' 2) ii 

C). 3) ia.n' 

D) T3R.1R , , 4) iii 

A C .D 

(a) •1' 4. 3 

(b) 3. 2 1' 

(c) 2 3 4 

(d) 1 2 

P.T.O. 



Considcf the following statements: 

Assertion (A).: The Southern brancI of jet. 
steam influences the 
forniation of winter season 
in Endiato a great extent. 

Reason (R) This jet stream plays an 
importail rOle in tie 
cydone.whicli appear in 
North — Wcstern parts of 
IndiadUring the Winter 

50.. 

R(A) iiT 
R1Ieil 

35rT .iI?  

••ii ?lil 1I.4(1I i't 3ct(  

(A) f2.1T (A): c) 3fr (R)(A)  
oqI<9qJ cii 

(b) (A)rr(A).* (R)(A)a  

(C) :(A).i .t, l5(R) 'ic1c1I 

(d). 

1. f 

50. Consider the following statements: 

Assertion (A): Tank is one of the main 
soutce of irrigation in 
Peninsular India. 

Reason (R) in Peninsular India most of 
the rivers are seasonal 

Give (lie corredt ansWr.usjn the codes 
given below: . 

• Code:. 

(a) Both (A) and (R) are true and (R) 
correctly explains (A). 

(b) Both (A) and (R) are true but (R) is not 
a correct. explanat ion of(A). 

(c) (A.) is true but (R) is false. 

(d) (A)js false but.(R) is true. 

Season: . . . . 

Give the correct answer using the code 
given below: 

code:.. . . 
(a) . Both (A) and (R) are correct and (R) is 

the correct explanation of (A). 

(b) Both (A) and(R) are correct but (R) is 
not a correct explanation.of(A) 

(c) . (A) is correct but, (R) is false.: 

(d). (A) is.  false but (R) is:conect. 

HMCE P1/A'' •  14 

5 

5R (A) iI • rt vT;:m1 
5 I1411UTr c1 m5 ifi 
* 

cbi'(Ul (A) tr tcj, Tr 5 ic:ia fwT wr 
. icrT ?2W 

4 c1?j1LJ: 

(a) (A) 2m(R) (R)(A) 

• (b) (A) iii (A) -ui *i1 
*1 

(C) 

(d). (A) iricit; 



D tç1 5 TI flcikd 

1) quffjj- 

2)  

3) sto tq5 MIcpR1) qi 

geikHlI 

3qd -R/? 

(a) 13412 (b) 23li3 

(C) 133 (d) 1,23t3 

53. 3k1 .ii1 5T ild '4IWT 5 f 
3Tt*2 

(a) t41Itc1 ,icT (b) ctT 

(C) 4Tflf (d) '-ii 

54. 

55. ct,iIi (Golden Revolution) 
1i 

(a). CIIII 

(b) • fieif'1 3ctflc4l 

(C) 1ti'tii 

(d) uiicii4tl . • 

56. tcj  

(a) Tc (b) 

(d)  

52. Consider the following statements related to 
ecological farming: 

1) The basic principle of eological 
farming system is - to take production 
from nature to its capacity. 

Make minimum interference in. the 
natural activity of natur. 

Compensate the exhausted nutrieiits of 
land with the natural nutrients of 
nature. 

Which of the above mentioned statements 
is / are correct? 

(a) I and 2 (b) 2 and 3 

(e) 1 and 3 (d) 1, 2 and 3 

53. In which state of India the percentage of 
Schedule Castes is highest? 

• (a) Himachal Pradesh (b) Uttar Pradesh 

(c) West Bengal (d) Punjab 

From the economic point of view most 
important forests are - 

(a) Tidal 

(b) Evergreen 

(c) Tropical Deciduous 

(d) Mountainous. 

55. In India the Golden Revolution is related 
with: 

Woollen Production 

Oil Seeds Production 

Tourism Development 

Horticulture 

56 Where has the allest.rock— cut image of 
Nrisimha been found? 

(a) Chandpur (b) Dudhai 

(c) Deogarh (d) Chanderi 

:HRMCE P1/A '5 P.T.O. 



TTi5 Ici'ti  rfi 
Trr.,1HI H(1t 

(a) -i1i 

(C) •. : 

16 

• WhicH. oithe following books is knownas 
• ."Shatsahastr;j San-ihita'?? 

(a) Brihatsamhita (b) Mahabharata 

(c) Ramayana (d) Manusrriritj 

58 Who has given an exe11ent description of 
the surgical Instrunients in ancient India'? 

(a) Cliaraka (b) Aryabhatta 

(c) Sushr-uta (d) Vanianacnarya 

• 59 . I-low many.irnages.of Yoginis. are preserved 
in the "Chaunsatha — Yogini Tenp1e" at 
Bhcraghai? 

(a) 64 

(c) 81 

(b) 54 

(d).74 

60. . Which of the following book, 
,•_ L_ Tf_l t .-. 

Ritusarnhara 

2) Kiratarjuniya 

3).. . Mrichhkatikam 

• 4). . Ma1.vikagnimitrajii 

• Select the èorrect answer uing the code 
given below. 

() I only 

b) I and 2 both 

). 2and3 

•(d) 1,2,3,4. 

61. Which on ohhe following temples.hs bein 
described as 'a landmark i the evolution of 

• . the buildingart' by Percy Brown? 

(a) Bnhadishvaja temple at Tanjore 

(b) l3rihadishvara temple atQangái - 
kondacholapurarn 

(c) Shore.tenip1 at MamaiJapuram 

(d) Kailasa teniple at Ellora - 

.HRMCE P1/A  

60 dhi 

1) •. 

2)  

4) 

(a) -t 

(b) 12ci).-j1 /J 'P 

(c) 23 • • :' ••. ... 

r 1  

øC'it IIR1d,1j c1l'l 

(a) ci-.-.i1-. 

(b) 5T 1ii'( 

(C) .  

c'i)'u TTriIi 

61 



Nearchus (b) Herodotus 

An stobulus (d) Megasthenes 

• 63.. Which of the following kings ofRashtrakuta 
;dthasty built the famous Kailash temple of 
•Ellora? 

(a) Dantiverman (b) Krishna I 

(c) Dhruva (d) Gdvinda III 

62. Which of the following Greek historians has 
been called the 'Father of History'? 

64. Who amongst the following was also a poet 
and a musician and took delight in his title of 
'Kaviraja' or 'The king of Poets? 

• (a) Chandragupta 

(b) Samudragupta 

(c) Skandgupta 

(d) None of the above 

65. \\'hich of the following ruler of the 
Chalukyas of Vatapi also maintained 
diplomatic rlations with Iran'? 

(a) Jayasirnha 

(b) Pulakesin II 

(c) Vikramaditya I 

(d) Vikramaditya II  

62; f5ET II4'I. 1k1ct'R 1 'Rieq'i i 

i--rf cbI iIcti k2 

(a) (b) 

(C) H14Ct<1 (d) 1Ttt1 

63. .-II iei'l'ti 5 'c1lI ir1 
- 5T-lui c)-(R1j 

(a) cf194. (b) cpwi2T 

(C) (d) 

64. 1i c)I1 jd) 2J 51t bIi.ii 

31IIT Ru-i') i IIict) à5 q -n'-1 A'11dI 5I 

(a) 'ii' 

(b)  

(C) iii 

(d) 

65. fic IcH5 
[J Tfl1lci I  

(a) tLl1 

(b)  

(C) 

(d) -  TfZt 

From which city of lndusValleyCi:vilisation 66. 
dd we get the evidence of the conservation 
of potable water? 

(a) Mohan Jodaro • (b) Lothal 

(c) Kalibanga. • (d) Dholavjra 

fci ZTT c)Icl.i f 5;:r ii .4 l  

(a) i'i'i i'lc) (b) tr 

(C) ct,lclI1 (d) 1ciiu 

Which Indian ruler appointed 
'Dharmamahamatra' for the first time? 

Chandragupta Maurya 

Samudragupta 

Harshavardhan 

Ashoka •  

67. ' i-ii I?ga1 -mfi II1c) 
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Which one .ol the following Jam 
desdribes the rules for Jaina monks?: 

(a) Achrangasut.ra 

(b) .Bhagavati- sutra.. 

(c) Kalika - Purana 

(d) Bhadrabahucharita 

HRMCE 

Match List - I With. List -. H and select the. 
correct answer using the code given below 

List.— 1 

A) Vaishesik Philosophy 

B) Sankhya Philosophy 

C) Yoga Phiio.Soph' 

D) Nyaya Philogophy 

List.— IJ 

1) Gautarn 

2). Patanjali 

3) Kanada 

4) Kapila 

Code :. 

A 

(a) 3 

(c). 2 

(d) 3 

(a) 3lit1ii 

(b)  

C) ctiIicii  

(d) . . 

70 Which inscriptionofking Harshvardhán has 
his own signature on it9  

(a) Madhuban Inscription 

(b) :Ba.nskhedà inscription 

(c) Nalanda inscnption 

(d) Sonipat inscription 

70.: 

(a) r~ 

(I) 

(c) ii- 

.(d): 'lcs : .. 



;Who of the following kings has been called 
Saptam Chakravarty'? 

(a) Mihir Bhoja 

(b) Bhoja Pararnar 

(c) Sorrteshvara Ahavarnalia Chalukya 

KarnaKalachuri 

Consider he following events and arrange 
these in a chronological order: 

1) Battle of Ghaghra 

2) Birth of Akbar 

3) Battle of Chausa 

4) Harnayun,'s Kalinjar expedition. 

With the help of code gfven below choose 
the cOrrect answer - 

Code: 

A B C D 

(a) I . 3 2 .4 

(b) 2, 1 3 

(c) l. 4 3 2 

(d) 1 2 3 4 

Who was the Peshwa when the Third Battle 
of Panipat was fought in 1761? 

(a) .Baji Rào I 

(b) Balaji Bajirao 

(c). . Madhava Rao 

(d) BajiRaoli 

•The farnousliterary work 'Kitabul —Hind' 
was written by: 

(a) Alberüni 

(b) Badayuni 

c) Zia —  ud — .din Barni 

.Kaphi — khan 

HRMCE P1/A  

71. 

(a)  

(b) rrr 

(C) i4c 3IHct1 tflrc 

(d) c)Ui )C1t1. 

72. 11d ;n3 q 3 3- 
c)Ie1ct)HI1R 

1) T 

2) . 

3) T15T 

4) HI5T ctlfi'( 3f1 

A B C D 

(a) 1 3 2 4 

(b) 2. 1, , 
 4 

(C) 1 4. 3 2 

(d) 1 2 3 4 

.73. 1761 ici Lfl.c1 5 ik ct1'l tTE1T 

arr? 

(a) liT1T 

(b) dIc1I I'cIc1 

(d) iai)dfZT 

74. i115f IdIc1-I T: 

(a) 'o4l i'u . 

(b) i4 iu . 

(C) 1ii1.i a'& 

(d) im 
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75. Who built kabulibah Mosque at Panipat? 

• (a) Akbar (b) Aurangzeb; 

(c) Babar (d) Ibrahim Lodi 

76. What was the real name of Birbal? 

(a) Rarndas (b) Shyamdas 

(c) Maheslidas (ci) Bhagwandas 

77. Who was the Sultan of Delhi at the time of 
Timur's invàsioji? 

(a) Ghiyasuddin Tughlaq 

(b) Feroz Tughlaq 

(c) Abubakr Shah 

(d) Nasiruddin Mah.rnud Tuglaq 

• 78. Match List — I with List — II and select the 
correct answer usingthe codes given below: 

List—I 

A) Roya Title Act 

13) Indian Civil Services Act 

C) Sharda Act 

D) Indian Universities Act 

List—Il : 

1) 1861 

• 2) 1929 

3) 1904 

• 4) 1876 

• Codes: 

A B C D 

(a) 3 2. 1 4 

(b) 4 3 2 I 

(c) 4 3 I 2 

(d) I 3 2 4 

75... i-iq[ c1ic1II H1ic 

(a) .3 . (b) 31ti 

(C) ai' (d) gJtc1c 

76. aji1  iPTT a? 

(a) 

(c). IcI'i' 

77 

• (a) 

(b) 

(C) .: 

(d) -sic. 

78 ll 

A)  

B) Iflct, 

C) rrrlctt 

0) R I1thc1 31fIfZPr 

• '1-lI .  

1) 1861 

2) :1929 

3) 1904 

4) 1876 

A 

(a) 3 

(b) 4 

(c) 4 

(d)  

•HRMCE P1/A, •' • 20. 
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Which of the following is not correctly 
matched? 

(a) Pindari War — Lord Hastings 

(b) First Afghan War — Lord Auckland 

(C) Annexation of Sindh — 

Lord Ellenborough 

Jy Second Sikh War — Lord 1-lardinge 

By which rule the Sati-Pratha was stopped? 

'(a) Rule XII (b) Rule XIIV 

(c) Rule XV (d)Rule XVII 

Who. amongst the following brought out 
"Voice of India"? 

Surendra Nath Bannerjee 

Dada Bhai Naoroji 

Bal Gangadhar Tilak 

Christopher Paul  

79. 

-  IT icix 

rflt1 

80.  

(a) XH (b) XIV 

(C) fi.iH XV (d) frT XVII 

81. 1i1i:i frt Voice of India" 

3I1tT5 iii ) )IH 

(a) tRTY 

(b)  

(C) 

(d) i')'tTRI 

When was the "Dak —. Khana Act" passed? 

(a) 1852 (b) 1853 

(c) 1854 (d) 18.55 

83. Who amongst the following leaders 
published "New Lamps for Old " 

Bipin Chandra Pal 

Sürendra Nath Banneijee 

Gopal Krishna Gokhale 

Aurobirido Ghosh 

Th working of LED system is based on 
which principle? 

Fluorescence 

Phosphorescence 

Electroluminescence 

None of the above 

RMCE P1/A 

8 SIc1RTtct,'  c[f5T11ZH2? 

(a) 1852 (b) 1853 

(C) 1854 (d) 1855 

83.  Zc11.i -w 3' 

84. LEDctd-Mullc 

(a) 11<1tRl 

(h) fit&t 

(c) ciiltRI 

(d) j9Ict1-1 
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(b) N2 

(d)S02 

87. Which. gas plays main role in the Gfeen 
Houseeffect?' 

(a) 1-12 

(c) CO2 

2) Plague 

4) Polio 

89. Which 'of the following diseases are / is 
caused by. bacteria? . 

1) Leprosy 

3) Mumps 

85. Which.of the following is not true for naho 
• materials? •. . 

(a) . 'Naro carbon is stronger thar steel 

• . (b) Nano — fibre cloths do not get duty. 

(C)' Nano — ied:icines 'ill be more 
effective. 

(d) Homeopathy uses nano materiats 

86: Which of the 'fol1.owin has the highest 'pH? 

(a) Gastriclj'uicc S  

(b) Bile in the gall bladder 

(c) Pancreatic juice .' 

(d) Saliva 

88. In information technology HTML 
represents:.. - 

(a.) Human Text Markup Language 

(b) High Text Markup Language 

(c) Hybrid Text Markup Language 

(d) Hyper Text Markup Language 

Slect the correct. answer using the code 
given below : 

Code:
:-. . 

(a)' 1 and 3 are correct 

(b) I and 2 are correct 

(c) • 1.3 and 4 are correct 

(d) A!! are correct 

'85. 

(a) -iVii  

(b) 1'i'l i't 5 c4  4j  

(C) 

(d) 1zi* .i'! 

9C 

91 

:86. •i ••.i 

87 . L1 

,(a) H2., 

(c) CO2. 

88. T11ic2(.lT) 

(a) V,T1,UT.  

"(b) 

(C) IIs tTT 

d)' nwi' 

89.. •'1iRi 

1) 5'•('l 4  

3)T3T 4).' 

41 1JcrI( 

(a) 1313iJ 

(b) 132*itl 

• (C) 1,3'3114\9l 

(d) irtii 

RMCE P1/At 



-I 3TTI Ec1I 90. e largest organ of human body is: 

Liver 

) Intestine 

Urinary bladder 

(d) Skin. 

91. Match List - 1 with List - II and select the 
orrect answer using the codes given below: 

(a)  

(b)  

(C) 9:IR4 

(d) (ItB 

91. 
 rili1 cb'( I? il 3cd. 

Name of Test) 

A) Montoux Test 

B) Elisa Test 

C) Widal. Test 

D) Tourniquet Test 

:Codes: 

A B 

a) 3 1 

(at5HIH) . 

HI'it1 1) 1f 

2)  

3)  

List-Il 

• (Name of disease) 

1) AIDS. 

2) Dengue fever 

3) Tuberculosis 

4) Typhoid 
4) ,i-iis 

• A) 

B)  

C)  

D)  

2 4 

2 3 

1.. 4 

4 2 

• Which of the following statements is not true 
about the optical fibres? 

They provide longer number of 
connectivity for telephones. 

They are less noisy.. 

c) They are cheaper. 

(d) 1They have longer life - time. 

92. 1IcX1 t15T& 1ci c1thlof i 

(a) cj 1l 2c'41-[ c1  PM5 

(b)  

(c) 'l1l 

(d) lciciIe1 3TR15 1dI *1 

Jarvic7is: 

(a) Pace maker 

(b) Artificial limb 

(c) Artificial heart 

(d) Artificial Cornea 

93. (Jarvic) 7 t: 

• • (a) Eizt5 

(b) tn 

(c).5 

(d) dl&IlI 

P.T.O. 



94. Sun is getting energy from which of the 
following? 

(a) Nuclear Fission 

(b) Chemical Reaction. 

(c) Nuclear Fusion 

(d) Pfrotoelectric Effect. 

95 The core of the transformer is laminated.so 
asto:: 

(a) reduce energy loss due to eddy current. 

(b) make it robust and strong. 

(c) increase the secondary voltage 

(d) make it light weight 

96. Consider the following statements and select 
correct answer from the codes given below: 

I) In solar cooker cOncave mirror is used. 

2) . In loud speaker . electrical energy is 
converted into sound energy. 

3) In motor electrical energy is converted 
into mechanical energy. 

codes: . . . 

(a) only I and2 . (b) on1y2and3 

(c) on1y3 and I ;(d) all l,2and3  

94. ic'b R11k1' 

(a.) Rls-i 

(b) ii1sa1r 

(C) 

(d) 

95 

(a) 
5fTI 

ci oii aii 5fi'fl 

I a 1I'5 I 

ti- fu 
•1I(1•I jc1'. — 

i) 3Tfc4Uctcij*I 

2) eiI.is<ci,' iT 
i31c1j l 

3) r qçuj 4[f5 j1f 
c1il 

(a) 51TT2 

(C) 5T3?121T1 (d) m.ti 2?11T3 

96. 

97; Which of the following is the strongest force 
in nature? .. 

(a) Gravitational force (b) Nuclear force 

(c) Electrostatic force (d) Magnetic force; 

98. Which of the following celestial bodies 98. 
contains abundant quantities of Helium — 3, 
a potential source of'eñergy? 

(a) Earth 

(c) Venus 

(a) it,4ui (b) 1zr 

(C) r (d) 

11R9c1  S 11 
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99. Which of the following causes more severe 
burns? 

• (a) Boiling water (h) Hot water 

c) Steam (d) Melting iceberg 

About what perceniage of the Wor'd's fresh 
water is in Antarctica? 

): 50 (b)40 

c) 70 . (d) 100 

What is true for RADAR? 

(a) This is a technique to see hidden 
obj ects. 

(b) This is a method to. detect fighter 
planes. 

(C) This is a method to send coded 
message. 

(d) This method is only for night vision. 

102. Match List — I with List — Ii and select the 
correct answer üsin the codes given below. 

A) 98.4° F 

;B) 76 cm of Hg 

C) 80/120 

D) 321b 

List—II 

1) Atmospheric pressure 

• 2) Human blood pressure 

3) Body Temperature. 

• 4) Tyre — pressure of Car. 

Code: 

A B. C D.  

2 4 

3 4 

4 2 

.1 

99. i 4 e1fc1 ¶i5 . * 31fR5 rnTh  
(burns)ct? 

(a) inc1i (b) T1 

(C) Tq • (d) 1iiciii 

100. fcf 5 ii,ii 31IIK1 4RR1 
3 -tJ?,cii *t? 

(a) 5U (b) 40 

(C) 70 (d) 100 

101. 

(a)  

(b) rqrciifi 

(C) It (coded)  

(d) 

102. 

Ust-1 

•A) 98.4°F 

B) 76*t.. ¶5f 

C) 10/120 

D) 32tlT3 

List-Il 

1) cIc1.4aI 

2) T5TIcI 

3)  

4). qT 

Code: • 

A B C 

(a) 3 1 2 4 

(b) 2 1 3 4 

(C) 1 3 4 2 

(d) 4 .2 3 

JJIRMCE P1/A 2 PTO 



..A .B 

(a) '1 

(b)'.2 1. 

(c)'3 2' 

(d) 1 2 

'3 

'3. 

103. In which kind of pot food will be cooked 
faster?' 

(a). Steel ' (b) Copper 

(c) Silver ', .. .. . (d) Bronze 

I 04 Whiáh of the following statement/s 'is .1 are' 
• ' true? ' . . ' . . 

1) gni - 5 s co1nfry's longest — range 
-' ". surface '. tQ '. 'óii lnter-ContinentaI 
• . •' 'Ba11istic.M.issile(ICBM) ' 

2) Its fill range is i'no,re than 5000 k.rn. 

3) It wis launched from Sriharil'ota 
Andhra Pradesh) 

4) India ioind the elite club of U S A, 
Russia, 'Fiance 'and China 'by 
uccessfiJlytest firing nuclear capable 

'Agni 5. . : .. 

Select the corret answer from the code:  

104. 

1)' 3. 
c'lctic1i inter-cdntinental Ballthtic"Missi)é' 
(ICBM)tl 

2). 

3) ui(3IT)tnv.i 2T 

4) ITRT Li"iiiuj,  i11c1VcJ1, 311t - 5 '1L*e1ciI 

15 tw' 3 41'cti, 1, T5 elite 
club iiZci r1ii 

'dIc1I ' ic1'(III!I 

Codes:: 

(b) .1,2,4 

'(b):', 2,3,4 (d)2,4 

105. 'Name the missile test— fired sucôessftilly on. 
May 21, 20L8 from the 'Odisha coast, which 
was 'an Indo —' Russian joint venture. 

(a) ', Agni — 5 , , (b) Brahrnos. 

(c) Prithvi - H. ' (d) Sarmat 

106; Match List — I with List —Ii and choose the 
correct answer from the codes given below 

Lit—1 '; , . . . List-Il 

A)'. Internet speed '. 1) 8 G.B. 

.B) Pen — drive memory .2) 2 Mbps 

C) 'Face-book' 3) E-mail 

0) 'Yahoo ', , " 4)' Social media 

Code:' , '' 

'1Qi 'R 21 2018 * 3.1M1T 
t1TTF,. 

'(a) 3-5 

(C)' II 

106. 

'til-ll 

A) kt&s 1): i 

B) 2) 2.. 

'C) 5j5 

D) ' ' 4) 

RMC P1/A 
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(a) 1 

(b'), '. 't, 

(c) 3 ' 2.. 
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not caused by 107. d- ct1fl 

(b) Typhoid (a) Hcf.1l (b) .i$'bV-lS 

(d) Tetanus (C) ftMj (d) 

Which of the Following is 
bacteria? 

(a) Malaria 

) Diptheria 

;sIe 

108. \Vith reference to cancer, which of the 
following statement/s is I are correct? 

1) Fine Needle Aspiration (FNA) biopsy 

is related to cancer. 

Carbon - di - oxide laser is used for 
removing brain tumour. 

Select the correct answer using the code 
given below. 

Code: 

(a) I only b) 2 only 

(c) Both 1 and 2 (d) Neither .1 nor 2 

109. Consider the following statements and 
choose the correct answer using the codes 
given below. 

1) In 1968 first case of AiDS was detected 
in. India. 

In 1992 India's first AIDS control 
programme (1992-19.99) was launched 
and also National AIDS Control 
Organization (NACO) was constituted 
to implement the program.. 

The National Council on AIDS is 
chaired by the Prime Minister. 

Code.. 

(a) 1 and 3 (b) 2 and 3 

(c) 1 and 2 (d) All the above 

Which kind of engine is likely to have 
minimum pollution? 

(a) Petrol engine 

(b) Gas engine 

(c) Diesel engine 

(d) Kerosene engine 

108. fct-i -Iictcio.1 

109.  
Jcd tI.  

1) AIDS 5r ?i1 1IHciI 4W[ 1968 ai 

i'.ffl 

-IRC 5P-e1I AIDS cb I !ifl1TT (1992-1999) 
1992 ffi5?.11 iql itZT AIDS 

ctc1  (NACO) T UJ thITrT 

1lI.-*1.H 51IIt5Z1T i.iiI 

Iiici cIjci 31R AIDS 5 3j&I8 11Th1 

u[3cq1 cI)'tdI? 

(a) Tmi 

(b) ii 

(C) . Sp1c1 11 

(d) 11ii ,i.i 

(b), 23it3 

(d) 
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ilL. With reference tc human blood which of the 
following statement/s is/are.correc[? 

1) In a healthy male the percentage of 
haernoglobin is iliore as compared to 
wiat LI is in a normal healthy female 

2) The normal value of platelet counts in 
human blood, ranges from 2,00,00g. to 
4,50,000 c.m.m.' 

Select -the correct - änswer using 'the code 
given below': '' 

COde: - '.' 
0 

(a)' I only (b) 2 only 

(c) Both .1 and 2 ' (d) 'Neither I nor 2 

112.. Match List —'-1 with List — II and select 
correcl. answer from the codes, given below. 

• 'List I :.. ' List'II' 

A) Atom bomb 1) Heat energy 

B) , Melting of ice, '' 2)' Nucieàrenèrgy 

- - , , C). Thunder , "3) Light energy' 

D) .,, Sünris - 4) Sound eneig 

Code: 

• A 

'"'a)3' 21 4- 

(b) 4 ' 1" 3' 2. 

(c)'2 1'. 4'•3' 

-' (d) I 

11 3. Which of the following statemnts is iot 
correct? . ' ". ' 'T 

(a) ' Passive euthanasia was made legal in 
India by. Supreme'Court of India in 
2018. , ' ' ' 

(b) For passive euthaiiasia, patients must 
consent through a living will; ': 

(c) Thejudgement was' passed by a 5 —' 
member Constitution 'Bench of 
Supreme Court in case,of Pnki Virañi. 

(d) For passiveeuthai-iasia paients must be 
either terminally ill or in a vegetative 
state. 

RMCE P1/A' 

I'll. 
'. ' .'' 

1) Ir* i4ici'l1i.i 
Uci'ii 5'kul' 

jf lc$,JU t '*Hfr<-1 '1'9&1i 

- 2,0b,OQ04,5O,OOO 5c*l 

112. 

crt'1 S ':.' 

A) iu,r " 1) Ti 

B) G5r1Jc,T9T 2) ift1 

3) Mczii  

4) ''t.' 
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iaiondis hard because - 

It cannOt  be burnt. 

(b) It is niade up of carbon atoms. 

It is a giant molecule. 

'All the four valence electrons are 
bonded to each carbon atom by 
covalent bonds. 

Athelete's foot' is' a disease caused by - 

' Bacteria . - 

j;. Fungi, 

):Protozoa' 

Nematode 

.116. Which of the following is correct pledge set 
for, the countries to limit their temperature by 
2050 byaU.N. body? 

to reduce temperature by 1.50  C. 

(b). to reduce temperature, by 2° C. 

to reduce temperature by 10  C. 

None of the'above 

I 17. Consider the following statements and give 
the, correct answer 'using the codes given 
below. ' 

I) The United Nations Secretary-General 
declared 201 9-2028 as 'the Nelson 
:M'ande1a Decade of Peace' on Sept. 25, 
2018.. 

'He also unveiled 'statue of Nelson 
Mardela at the U.N. on Mandela's 
lOO birth anniversary. 

Code: 

Both I and 2 are correct. 

2 only:" 

I only 

None of the above 

MCE.' P1/A  

114. Rf15- 

iciv-r .i?t u 1cd1l 

tli93'rc,I lc1TI 

fl39 

• TRf c9 

-4'l.Yt') .1IS 5'ld I 

115. ?T1J1cb1Th11#- 

(a)' cWi j 

(b) cb-1ctI 

(C) ñ31! 

(d) 

116.  
2050 ?rE5 aItFt dIq4-n( * 

ic1? 

(a)' 

(h) 2°C cIqHl-*!I 

(C)' 1°C riIqHrtzwij 

(d) ri 

117.  
1IldI 31RT 3cd't - 

1) 25 111k, 2018 t *icti  

2019-2028 1-c1l TT1E T 
hfii 

rit1T 

cM 5i 3i'jiuT f5TI 

F 

2q 1'. '-r' / 



1.18. The World Cup 1ockey Tournament which 
was organized ir Nov. 2018 in which of the 
following cities of IndIa? 

(a) New Delhi 

(b) Bhübaneshwai-. 

(c) Purl. 

.(d) Kolkata 

119 Two indians, Dr Bharat Vatwani and 
Sonarn Wangchuk, received a prestIgious 
award on 3P4  August, 2Q18. Name the 
award. 

(a) World Excellence Awai-d, 2018 

(b) . Nikkei Asia Prize,2018 

(c) KISS Humanitarian Award. 2018 

(d) Ramon Magsaysay Award, 2018 

120. Who won the Women Single's title in the 
U.S. Opens Tennis Tournament, 2018? 

(a) Screna Williams 

(b) Anastasija Sevaslovä 

(c) Naomi Osaka 

(d) Elena Vesnina 

21. The"Me Too" carnpign has been initiated to 
help which .of the following? 

(a) Below Poverty Line Women. 

(b) SC/ST Category. 

(c) Sexually harassed women. 

(d) SC/ST Women. 

l22 Which countr).' levied a tax on WhattsApp 
and Facebook in June 201 8? 

(a) Uganda (b) Zambia 

(c) Zimbabwe (d) Tanzania  

118.. j5q (W.orld.Cup) 1i)1cii -itii- 

(a) -if) 

(C) .,' 

(d) ctc'rnI(1j 

119. . 
31 TTrcT, 2018t HI-s4 3T1I'.(1 fTrI 

-. . air • . .. 

(a) 2018 

(b) LIqI 2018 

(c) (KISS) fi 31T, 2018, 

(d) 2018..'. 

120. ITf. 

(a) 

(b.) 

(C) 

(d) 

121. ." 

(a)  

(b)  

(C) 1-i 1i{ciJ 

(d) 
lIciit1 . 

122 -1 2018 :J?J• WhattsApp 3t Fcebook 

(b) 1u 

(d) c1'—p1JI1t 

(a) uu 

(C) fii  

RbJ; P1/A . . . 
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123, The book entitled "Twilights Children" is 
based on the lives of people suffering from? 

::AiDS. 

own Syndrome 

ancer 

lindness 

124. Which of the following will be the host 
country for the official World Tourism Day 
Celebrations in 2019? 

Spain (b) Thailand 

(c) India (d) Romania 

125. Which country has becOme a popular hub of 
medical tourism9  

(a) Mexico (b) India 

Malaysia (d) Brazil 

126.. The International Women — Entrepreneurs 
Summit was held from Sept. 3,2018 to Sept. 
..2018 in which country? 

a). India (b) U.K. 

(c) U.S.A. (d) Nepal 

127: Who has been awarded the United Nations 
'IJNEP Champions of the Earth' award 
0t?. 

KailashSatyarthi 

Narendra Modi 

ç) Sudha Vergese 

(d) Donald Trump 

128. In which of the following countries 
.referendumwas•held in May 2018 to make 
artion law flexible9  

Netherlands (b) Sweden 

Ireland (d) None of these 

MCE P1/A  

123. Ic11$(i 1ic.i RI1T _J1 •1 

ft ii? 

(a)  

(b) sIi-1Ii1H 

(C) 1'( 

(d) cI.1ciI 

124. 2019 31ctI1cID - qz1 'j iii 

ii.-i 1ni? 

(a) (b) 2is 

(C). W (d)  

125. 1-1T T fctir qd T ictI'i ii 

(a) A1eI 

(C) Hi1i 

126. 1cii i4I11I 1'& 3, 

2018fic14d'(5, 2018 T*3IT? 

(a) w (b) 

(C) rr. i. (d) 1qic1 

127. ctrl IiU I '?L.  3.flq5 

31 3ZE 2018 15 SItR f5T i 
-' 

128. 2018 d 1*1fl15 

cpi-4 c1rc1I cI-It 5 f11? M11c1 -  '<131I cb'W-41 

(a) tusr (b) uI'i 

(C) 31R4' (d)  t-iI 

l. P.T.O. 

(b) 



131. 1627f2oj81 qzrq* 
W5cj 

ic.ii 21? 

(a) 3tTfl 

(b) .i4t Iui 

(C) 

(d) 

129: While Validating "Aadhar" the Supreme 
Court of India makes it essential for which 
of the following? 

(a) Bank - account 

Credit - card - 

Passport 

Filing Income-tax Return 

130.. Prof. G. D. Agrawal, who expired on Oct 10, 
2018; was on a: fast unto death for which 
cause? 

(a)•  Deforestation 

(b) Plastic — free India. 

(c) Cleaning Ganga 

(d) Swachchta Abhiyan 

131. 'Paryatan Parva' was organized nation wide 
in India from 16 to 27, September, 20:18. 
Which of the following was not among the 
three main components of the 'Parva'? 

(a) Dekho pna Desh. 

(b) Tourism for All. . 

(c) Tourism and Governance. 

(d) Tourism and Digital Technology. 

129. "3lTtT1T * -I-ldll 4cL1 iF 5 itiii 
U3, air 

(a)  

(b) cpj 

(c) giiq.. 

(d) 31 4 51II 

130. t. 3 I15T.1o.31ctt, 2O18t 
à5frcl TFT, ii )Nui. 3flT 3rr 

(a)  

(b)  

(C) . 

(d)  ifzi 

132. Name the woman who created history on 
Feb. 22, 2018 by becoming the l Indian 
Woman Fighter: pilot to fly solo - 

(a) . Taniya Sanyal 

(b) Avani Chaturvedj 

(c) Anchal Thakur 

(d) Manika Batra 

HRMCE P1/A. 
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'l33; "Hamnra Swasthya, Hainari Aaz' 
mpaigfl has been initiated by whom? 

Ministry of Healthaod Family 

Welfare. 

(b) Family Planning Association of India. 

) .:VhjteRjbb)fl Alliance'iOr safe 

motherhood, India. 

I'S Worldiiealth Organi sation 

P'Q3t i4 lT1T 3T(i1ZI1R 15) Wt 
t33 

(a)  

(b)  

(C) 

th?ff 5I'1 1T1l 

dR 1'thi ir 

1Tc1 lc1I, 

(d) tZTio{t 

1 34. ' Food Safety and Standards has aUowcd use 
of which gas for ripening of fruits in 

-Regu1atiofl 2015? 

I (a) , Methane 

'(b)' 'Ethylene 

(c) Propane 

(d) Ethyne' . : , ' 

134. it 
? 

135. An appeal 'to "Gift a Skill" was made by 

Minister for Skili Development ' and 
Entrepreneurship on the occasion of: 

(a) Réksha Bandhan 

b) 'Vishwakarma Pooja 

135. 
(Gil Ia skill) 1t tR Tf: 

(a) TU ' 

(h) ct)H111 

(d) dT ): Diwali 

international Labour Day 

136. 5flT fifIr 2018 

(a) I ci't3 ik1- 4l 

(b)  

(c) u1 '' 

(d)  

136. What has the Kailash Sodhani Committee 
recomrnertded in its report in Oct. 2018? 

(a) More democracy 0 Canipuse. 

Sports Philosophy to be taught as a 

subject. 

Yoga as a subject. 

Compulsary revival of student's 

'Unions. 

.r.o. 

.CEPI!A 



137. The Union Miiistiy of. Soci1 Justice 
released its data about beggars in the country 
on March 23, 20•l 8. Which' Indiaji State hs 
the highest ilumber of beggars according to 
it? 

(a) Bihar' 

(b) West Bengal 

(c) Uttir Pradesh 

(d)' Tamil Nadu 

138. Name the' diseritig judge of the Supreme 
Cot vdict in the..Sabarimala 
Devasthanam Case. 

Justice Chàndrachijd 

Jj,istice Leela Seth 

Justice Indu Ma1htra 

Justice Deepak Mishra 

139. Conidr the following statements and select 
the cori-ect answer using the codes' given 
below. : 

• I) "Titli' is the name given to the severe 
cyt1onic storm rising from the Bay of 

: Bengalon 11.10.18. : 

2) The two Indian states worst hit by it are 
Odisha and Andl'u-a PradesJi: 

Codes: - 

(a) 2 only 

(b) I only 

(c) ;Both I and 2 

(d). Neither 1 nor 2 

140 Union Cabinet has approved establishment 
of National Institute of Mental Health and 
Rehabilitation in : " 

(a) ehore District (Madhya Pradesh) 

(b) Debria District (Uttar Pradesh) 

(c) Ballia District (Uttar Pradesh) 

(d) Katni District (Mad hyaPradesh) 

; 1) 1110 

R1fI1fT*I 

 TI13T 
3nTarl 

(a). T2 

(b). 5t1 

(c).. 1 2c  

(d) •t1'3F2 

140. 
t9 USTf - 

'(a) 

(b). 

(Q) Tcij (ct1'( T) *1 

HRMCE P1/A 
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•iiii ITTft 
iq1? ' 

(a) fR 

(b)  

(C) 

• .: ..• 

• 'iIll1Icf 11R 5T * .jt 141 I.4ic1-1 
'f 3jr '& i* aii i Tr acii1j 

(a) TttLJ
•'• :. 

(b)  

(C) 

(d) . 

138. 

'4crI'ki . 

137. 

I 39. 



144. Gas Authority of India Limited has built a 
network of natural gas trunk pipeline 
covering a length of: 

) 6400km 

c) 8,700 km 

(b) 15,600 km 

(d) 40,000 km 

4 

141. Which of the fol1owing is not correctly 
matched? 

National Parks States 

(a) Intauki Nagaland 

(b) Singlila . West Bengal 

(c) Betla Meghalava 

(d) Tadoba Maharashtra 

141. HiT 

142. Match List — I with List — II and select the 
correct answer using the codes given below. 

List -- I (Dam Project) List — II (State) 

A) Ghat Prabha 1. Odisha 

B) Ukai 2. Maharashtra 

C) Hirak'jnd 3. Karnataka 

D) Koyana 4. Gujarat 

:-,Codes: 

A B C D 

2 1 3 

3 2 

4 1 2 

.2 .1 3 4 

• How many islands are there in 
kshadweep? 

:17 (b) 27 

) 36 (d) 41 

142. 

Tici tILJf 

I (Jl'L*.') j -  II (r5r) 

A) UJ.1T 1. 

B) 3T 2. 

C) . 3. 

D) i 4. 1'(ki 

A B C D 

(a) 4 2 1 3 

(b) .1 3 2 4 

(C) 3 4 1 2 

(d) 2 :1 4 

143. Tq? 

(a) 17 (b) 27 

(C) 36 (d) 41 

144.  
qcii.i 5T CAc 5T fp1uj 

(a) 6,400f5. (b) 15,600f. 

(C) 8,7OOf54. (d) 4O,OOO15. 
}311J 

i3n 

P.T.O. 35 



(a) • 0.49% 

(ç) 0.94% 

(by. i20% 

(ci) 

• 145. According to India State of Forest Report 
(ISFR).. 2017 percentage of forest cover in 
India has increased by 

(a) 049% (b) I 20% 

(c) 0 94% (d) 0 54% 

146. Which of the following states has largest 
- production of iice?. - 

(a) UttarPradesh (b) West ngal 

(..) Punjab (d) Andhra Pradesh 

146. fsi.1Ri1d -\ f5:T  qj f 

ict4It1T....... 

(a) .cit: 

(c) 

147. World's highestroad.s in India where is i? 

(a) Leh arid Sriiagar 

(b) Leh and Manali 

(c) Sri nagar and Jammu 

(d) Jammu and Shimla 

147.. 

(a)  

(b)  

(C) TUij 

:(d) ai?Iiicii 

148. On what percentage of the total agricultural 
• land ioodcrops are.grown jn lndi? 

(a) .60% (h) 70%: 

(c) 80% . (d) 85%. 

i48 
.I!c ? ..-- - 

• (a) 60%.- •- ..'- - • (b)70% 

(C). -80%.. -. (d) 5O/ 

149. Match List.- I with :List -- .11 aiid -select 
correct answer using the cQdes given below. 

List-- I (Sea Pot-i)- . -List-A- II(State) 

J49.. -1 t1l1R1 r3t*fTn? - 

Z1Ta 1jç t1l 

A) Alleppy 

B) . Ennoré 

C) Paradip 

1)) Kakinada 

Codes: 

A- - B . 0 D 

(a) 4 3: .1 2 

(b) I 3 

(c) 2 1 • 4. 

(d) 3 .. ..2 • 

I) And hra Pradesh 

.2)Odislia 

3.) Kerala 

4)Tamjl Nadu 

• 'ttI- I 

• A) 

• B) I' 

C) - 

D) . c,IcI1il 

(a) . 4 

(b) I - 2.- 

- - (C) 2 

(d) 3 
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150 Match List — I:with List — II and select the 150. 
cQrreet answer.from  the codes given be1ow. 

List — I List-il 

A) Tropical Forest 1) Sunderbans 

) Comferous Forest 2) Rajasthan 

C) Mangroves Forest 3) Himachal Pradesh 

I)) Deciduous Forest 4) Silent Valley 

Code 

 - - u ii IIT4 iTT 

II 

1)  

2) Tf 

C) 3) ciT 

4) 
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:The constitutiOn was' finally signed by the 
members of the Constituent Assembly on - 
(a) 24 'January, 1950 ..

, 

':(b) '26 November, 1 49 ' 

(c) 17 October, 1949 
,(d) 10 December, 1948 

The shott title, of the COnstitution "Constittu ion 
of India" i's mentioned under Article - 
(a) I 

,(b) '5 
(c)' 393 

'(d) 394 

In educational institutions reservation of seats 
in favour of' Scheduled Castes and Scheduled 
Tribes is governed by - , ' ' ,' '• 

(a)• Article 1,5 (4) of the Constitution 
(b) Article 16 (4) of the ConstitutiOn 
(c)' Article 29 (2), of the ConstiitiOn 
(d) Article 14 of the Constitution 

Which ,of the following has been described by 
Justice Gajendragadkar as the "very foundation 
and corner stone of the democratic way of life 
ushered'in this country by the Constitution"? 
(a) Preatnble. 
'(b) Fundamental Rights 
(c) Fundamental Duties 
(d)' Directive Principles of State Policy 

Justice K S Puttaswamy (Retd) V Union of 
India (2017) was decided by -. " ' . 

a Bench of 9'Justices 
, 

'(b) a Bench of 7 Justices S 
'(c)' a. Bench of 11 Justices 
(d) a Bench of 5 Justices , 

In which of the following •casë majority 
judgement of the Supreme Court held 'that 
Aadhar not only gave them a' unique Identity but 
also alife dignity? ' ': . 

(a) Justice K.S. Puttaswamy. (Retd.) V 
Union of India 

(b) B. :L. Kpoor V. state Of Karnataka. 
',(c) Joseph V. Union of India 
(d)' None of the above 

In which' case, the Supreme Court ha observed' 
that "Social morality also changes from gc to 
age"?

' : ' ' 

(a) Maneka Qandhi V Union of Indi 
(b) NALSA V. Uniori Of India' 
(c) A. K;'Kraipak V. Union of India ' 

'd) A. K Gopalan V. State of Madras 

HRMCE P2/A 

:,,TR q 1R'TT :'iq 

: (a) 24.I',195ol'. 
'(b) 26-iciin', 1949T 

(c) 1731ctç, 1949* 
(d) 1O.1,1948* 

w r1QstTFr 11I it 
(a). 3tt'i 5314'tT ' ' 

(b) 't 5 5 31fl1'r 
(C)' tci 393'53pf 
(d) 34t 394 5 31?ltl 

3 frn1ui TP1Fft * 3ij1 11ii 

,(a) .1e'15(4)Ji 

(b) 16.(4)iT' 

(C) 1T'3i.t 29(2) gii 
'(d) 53tt14.R1 

4 f1 Rtt f *__ iij1 ip.csctt ci 

?f1 TI'? 
(a) :3.ltnId-II , . , .' 

(b) T35 

(C '.
' S ' '. 

6. 

5. . 'r. ii4 (. fk) 01141 RTtI 

'(a) Iii i: 
(b) nr iij1i t 
(C) . 'iij1'i 
(0)' iqij 

iiif flR1 g5j 
~.ni 

(a) r cr11*cIIi ( fr) 1I{ 

(b)' . 1T. c4( QiJ4 

(c). ' ' ' ' ,. 

'(d) ': 

irzjclll '1iqlcq i?n'ti 1* cii f5 "IiI1cn 
-1i-iq w ice*Sl ? 

(a) .ict iit iiii 11RTtET 
(b) i-wr' eici iIi 3TTT' .3T1 1t 

(c) i. . 

(d) 'ia. . i 'uoq" 



•Matëh List — I with List .11 and sekèt the 
cOrrect answer usingthe code given below the 
lists:. 
List—I 
A) Article39A 
C) Article 44 
List — II 
1) Ordinance issuing power'6f the.. 

Governor 
2) Uniform Civil .Code 
3)" Separation of Judiciary from Executive 
4) Free Legal Aid 
Code: 

A 
(a). .1 
(b) 4 
•.(e) 4 

• (d) 1 

Assertion (A) : Directive Principles of State 
Policy äré relevant for determining the 

• •rêas6nableness of restrictions under Article 19 
(2): 
ReasOn(R): Dfrective Principles of State Policy 
havesbeefi declared superior to the Fundamental 
Rights. 
Codes:, 
(a)' Both (A) and (R),are true and(R) i 

the correct explanation of (A)' 
(b) Both (A):añd (R) are true but (R) is 

nOt the correct explanation of (A) 
(c) . (A) is true, but (.R) is false 
(d) (A)'is false, but'(R) is true 

10. Match List — 1' with List — II and select the 
correct answer using..the codes given below the 
lists.............. .. - . 
List—I 
A)'. Power to grant pardon 
B):, Executive power of the Union - 

C) .: Power to' appoint Prime Minister 
D) .Appointent of Attorney'General' 
'List —II '... .' . 
.1). Article'7.6 .2) Article 75 
3) Ai'icle:53 •. 4)' Article 72 
COdes , , .. ., , . . 

(a). 4 
(b)  4 
(c)  1' 
(d)  I 

Wicl 1- 

A)- B) 31213 
C) •3f•j,44 D) 35O 

1)  
2) *im-i i1ct *llii 

) 
4) t:5ff5'llcH . .. 

A" • B' 'C D 
(a). 1'', 4•' 3 .: 

(b) 4 1 3 2 
(C) 4 1 2. 
(d) '1" . 4 3 • 2 

9 312R (A) : 5 '11. HIc1) cicti iftTFr 

31tc 19 (2) JR 1ri< i1?gl5 

ui (R) : 'l4 5 1 - 1ict dc  1 3Jf5f 
511TI 

(a) (A) 3th (R)     * 31R (fl), (A) 5T  

(b) (A) (A) d'H't t4 (A), (A).r 

(C) (A)*,f9(R),Iic1ci'*I 
(d) (A)4Ir*.(R)1lI. 

10. 

A) ' . 

B) u ct cnI4ct  J1r 
C)' wr4 ii 
D) 

I) ttc 76 2) 3+J 75 

3) tk'c 53 4) 3-,td72 

A B CD 

(a) 4 2 .3,. ' 1 

(b) 4 3 2 1 

(C) 1 3 4 

(d) 1 2 

.I4cE. P2/A 



11. 14T . 9 RI R1d f 11' 

d, dlI ? 

1)' 

2) 1i- 

3) 'i-uRici 3Tit1'7 

4)- 

(a) 4, 2,3, 1 (b) 4, 3, 2, 1 . 

(C) 1,3, 2 4 (d,)' 3,1. 2,4 '; , 

2 'H i ci'-.it.i 5 TTR' 5T 1T I' Jzld41 

() 
(b)  
(c)  

(d) trpr ii5 c4j 

3 0,. lId *dcicicll 117T '-1W 5 dIc1 I.4M'-1 

l 
' 

ii) g. 1. tZI. C' NH IdIc1I1 ., . 

ii) I. 5. lIcH d-lI 15T , ,, ': 

(a) II n (b) u i 
(c) U It I (c:l) I II III 

1 4. ' dI 111TTH. 

(a) 75 (b) .: 
(C) 31tt 73 (d) 34t 76 4;..:. 

1 .  

'(a) . (A) 3li (A) i't 3 (B), (A) i 

(b)  

(c) ' (A)lld,(R)f I 
(d) ' ' :' 

16. I4'-1Id tt ii 11VTI '3Fti 21 

(a) cti3T5R 

(b) l3Tf5T 

(C) 

(d) 

P.T.O. 

What is the correct chronological order in which 
the fol.lowingprovisions. were incorporated into 
the Constitution of India thrqugh amendments? 
I) Right to education as nidamental iight 
2) Certificate fó 1iSupreme Court 
3) NagarPalika Act. 
4) Free Legal Aid 
Select the correct answer using the code given 
below: 
(a) 4, 2, 3, 1 (b) 4, 3, 2, 1 
(c) 1,3,2,4 (d) 3 l2,4 

12. TheSupremeCourt is the guardian of the 'Rule 
of Law'. This observation has been made by the 
Supreme Court in - 
(a) Rupa Ashok Hurra V. Ashok Hurra 
(b) In Re, Arundhati Ray 
(c) BALCO Employees Union V. Union 

of India. 
(ci) BejoyKumar Mohanty V. Jadu 

13. Arrange the following cases ofthe Suprc'nie 
Coqttf atg Fcisonal u be"t\ a 

ir corthird1ogictl oter.':.:.., 
i) Maneka Gandhi Vk1on of Inan 
ii) AD.M. Jabàlpur Y. Shivakant 
ii!) A K. Gopalan V. State of Madras 
(a). iii, ii, i (b) ii, i,. iii 
(c) ii, iii, i .. (d) i, .ii, iii 

14. The principle of "Collective Responsihility hrs 
been incorporated in: 
(a) Article 75' (b) Article 74 
() Article 73 (d) Article 76 

Asertion (A) : Right to education is . a 
fundamental right. . 
Reason (R) : Our Constitutioii had no provision 
for education before making right to eduction 
as a fundamental right. 
Codes: 
(a) Both (A) and (R) are ttue and (R) is 

the correct vxplanation of(A) 
(b) Both (A) and (R) are true but (R) is 

not the correct explanatiOn of (A) 
(c) (A) is false, but.(R) is true. 
'(ci) '(A) is true, but (R) is false 

16. Which. one of the fo1lowin is not included in 
Article 21 of the Constitution of India? 
(a) Right.to die 
(b) Right to' life 
(i)" Right to Livelihood 
(d) Right to dignity 

HRCE 'P2/A 



21. 

• 'iei 4i11. 

c1I9) R ) e'1cii *1 T 

:18. 

"Persons in possession of an object have better 
title over it, against the whole world except the 
real owner". This incip1e has been illustrated 
in which one of the following cae? 
(a) Armory V Delamire 
'(b) Bridges Y; llàwkeswàth 
(c) R'V'MOO 
(d) It C. 'Coh&ase 

18 Which one of the following theones has been 
proposed by Savigny to explain legal 
personality9  
(a) Realist Theory (b) Fiction Theory 
(c) Bracket Theory (d) Purpose Theory 

19 Which one of the following jurists has iejected 
cUstomary law as law7  
(a) Austin b) Kant 

• (c) •,Ketpi' (d),' Savigny 

20. Who :is the authOr. of ,the'book "Taking Rights 
Serious1y' 7  
(a) Hart (b) Dworkrn 
(c) Kelsen (d) Julius Stone 

"Some shared morality is essential to the 
existence of any society" is the assertion of-. 
(a) Fuller (b) Hart 

(c) Kelsen (d) Justice Krishna Iyer 

Who propounded. that 'Animus dbmini' is an 
essential element ofossessiofl? 
(a).: .Savigny,' . (b).Salmcthr1 
(c)." Poi1ck . (d) iher tug 

Match •.. List —''I with. List. — 11:. and select.the 
cOrreät answer using, the codes given .be1o.tl 

"lists 
List—I 

• A). Thomas Aquinas' B); 
,C) 'Kelsefi '• ' .D) 
List- II 

"l) '.Norma.tiye order 
2) . Con'imánd Theory 
3) Dictates of reasoning 
4) 'Theory of Justice 
5). 'System of Rules 

• Codes: 
A 

(a) 2 
(b) '4 
(c) "3 
(d),,.3 

¶TTT 

ol  

(a) iii1 frizFT (b) cec frRT 

(C) tlxm iF?f (d) 

HH RJ 

'(a)'i' ''(b)ct  

20 tTW  55T5  

.(à) 'Tt '' '(b), 

(c) . ., ' (d),T 

iii 5 3IfT 

3l1cct,t  ftRIctI*'? 

(a) 5R (b) 

1(c) R ' (d) i1qwii ai 

22 
Tàdc*1 

() . . . .1 (b) 

(c) . 5 .  • 

Itt il T 51  

51tdI'1 ct'&c dc't( 5T 

A), 
'C) 'tti'i - 

- II 

): 

• )' 
4)  
5) 1W1tCi' 

"A' 
(a) 2' 
(b) 4 
(c)  

,(d) 

•1 

     

     

(a) ., "3T:iI1  

(b) i1+IcN1 

'(C) '3iI11 ' 

(d) 3fl' ' 

HRMCE P2/A 



24.. 
çHTs1LJ: 

1)  

2) . 

3) jju 

4) F1W,IT?5T lH 

- Ik1 

(a) 4-2--1-3 (b) 2--i-4-3 

(C) 3-1--2-4 . ' (d) 4-3-2-1 

25. 1i ficn'i-T13* 5[ TN uI el" - 

f51? 

(a) 3.tfl 

(C) (d) i-iic-n'iii 

26. 

   

n-k' 5r? 

'(a) 
(b) ii ' 
(C) 

(d) 'ti' 

27. 3N9T fIVFT 5 fTR 

(a) I-icpctIIVR[ 

(b) T*IctI1r 

(C) I.ctlTFT 

(d) i-n ci 

28. IulZFct)I  

(a) ii 5T -iI-ic1l Hi1-1e1 5 ¶1L' 

(h) 11) 3Tl9T ZTh4je1q 5r fjD c& 3t'tR 

(C) Lcb .3t -qIrK.4 ct .3tz1 V1Ic1qtR 

- 
ril rf5vl 

29.. fTfiiT 5 rr iii'ft cti 1Tf15  

*1 - 1I4c1 ct 

(a)' tr. tr. i.  (b) ii tPT 
(C) (d) l. ei 

(d)' 

24. Arrange the following stages of development 
of law according to Maine: 
I) Customary law 
2) Law made by the ruler under divine 

inspirations. 
3) Codification 
4) Knowledge of law in, the hands of 

priests. 
Select the correct order of development using 
the code given below: 
(a) 4--2-- 1-3 (b) 2--I -4-3 
(c) 3-1-2-4 (d) 4--3-2- I 

25. "Justice is the first virtue of social institutions" 
is the observation of whom? 
(a) R. Pound , (b) Aristotle 
(c) John Rawis (d) Mahatma Gandhi 

26. "The search for natural law will continue as 
long as there perceived to be injustice in the 
world" is the statement of: 
(a) Hobbes 
(b) Justice Holmes 
(c) LOrd Lloyd of Hampstead 
(d) Rousseau 

27. . Duguit has built up his doctrine on the basis of 
division of labour and social cohesion. It is 
known as the doctrine of-• 
(a) Grund NonrL 
(b) Social Solidarity 
(c) Positivism 
(d) Social Plan Theory 

28. What does the doctrine of precedent mean? 
Choose the correct answer from the options 
mentioned ,below: 
(a) A previous case which may be taken 

as a rule for subsequent cases. 
(b) A decision of a sub - ordinate court is 

binding on the other sub -- ordinate court. 
(c) A decision of one 1-ugh Court is 

binding on the other High.Court. 
(d) An authority to be followed by all 

courts. 

29. Jurisprudence is the "Scientific Synthesis of 
essential principles of law" .- is the statement, of 
the following: 
(a) H. .L. A. Hart (b) Julius Stone 
(c) Friedmann (d) C; K. Allen 
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"LaW is reason:fre. from all Passion.". :Thi 
statrnent is of the following 

• (a) :' Socrates .'. (h).Plato 
(c). RoscoePouñd •. .(d) Aistotle  

31. In which case; the Supreme Court has given 
preference to constilutional moahty ovei social 
morality?. ' . ',. . . ... 
(a) Navtej Singh Johar V Union of India 
(b). Indiaii Young. LaWyei- ' Assn; V Union 

of India 
(c) Sayara Bano V Union of India 
(d) Government of NC T of Delhi V Union 

• of India. . ..... .  

(a) *,cici (b) tZkI 
(c) q' :• d) 3 

1I11I  .11 i 
5'1cicii tI* ci1di tt 

(a) icii 1i G1.iii IIffTET 

(b) 3i*iIRitii  iii-i TR?ETET 

(C) 'ii -i'u a-,iii -ii'ci 1Ef 

(d) 1l43fl 31i1I IW1TZT 

1icte1i il'W.M 'i1ki T4fRT* - 

(a) : 
:(b) -3itlEt?i' 

(c) 'cii5PT 

32. The case of'Pakala Narayan 'Swami V.. Emperor 
relatestô: 
(a) Doctrine of estoppol 
(b). 'AccompliCe 
(c) Dying declaration 
(d) CrOss — examination 

33 Which section of the Indian lvidence Act 
provides that no particular number of witnesses 
shall in any case be required for the proof of any 
fact?:., . '... . 
'(a) "Section 135 
(b)' Section 134 

• (c) Section"i36 
(d) Sectión'132 

34 In which of the following 'Accomplice' i 
declared competent witness? 
(a) Section 114 of the Indian Evidence Act 
(b): Section ill' of the Indiati Evidence Act 
(c) Section 123 of the Indian Evidence Act 
(d) Section '133 dfthe Indian Eyidence Act 

35. Which'special provisions regarding proving of. 
records: have been - nseited' in, the Indian 
Evidence, Act by Information Technology Act, 
'2000?'. ,.' . 

"(a): Section 56 -'A and 56 fl 
(b)' 'Section 65 - 'A and 65 B. 
(c) Section 55 A and 55. B 
(d), Section,35 - Aañd 35-B 

HRMCI P2/A  

32. 

33: 
 f1ift 

,a): ..g[ 35:l 

'- '(b)- 134',. 

(c) : T136 
(d) .TRF 132 

'34. :. 1'ci* flT ,: 31Tth 5 

(a) Tt3 1TT114 

(b)  
(C) 
(d) 

35 3Tf t *ii1ici 
ii r iThci :i%'i; 2OOO'gRr rr-i• 

3Tf1fIzlTEol'1i I4I 

a) 
(b) 11T'65,-5 ?t1T 65 - 

'(c) t5?rQTt55-'. 

(d)...Tr,35-a51u35-1, 



38. 

A)  
B) 4ccbi1t1T 

C)  

.D)   TT1 

1) I'&1159 , 2) iii154 

3)' .TRT 32 (1) 4). -TRT 141' 

• A B C D 

(a) 1 ' , 3 4 2 

(b) 3 2 , 4 1 

(C) 4 1 2 3 

(ci) 1 2 3 4 

39, 
(a)  

(b)  

11I1TZ11 

(C) 

(ci) - 

1TT 90 

ThT 108 

WT 119 
'.UT 113-I5 

36. Assertion (A) : Proviso to Section 132, Indian 
Evidence Act, lg72 is a facet of rule against •  

selfincrimiflatbon. 
Reason (R) Policy of Section 132, Indian 
Evidence Act is toprocure evidence for doing 

justice. 
Choose the correct answer from the code given 

below: 
(a) Both (A) and (R) are true and (R) is 

the cOrrect explanation 9f (A); 

(b) Both (A) and (R) are true and (R) is 
not the correct explanation of (A). 

(c). (A) is true, but (R) is false. 
(d) (A) is false, but (R) is true. 

37. If witness, who is unable to speak, gives his 
evidence in writing in the open court, evidence 

so given shall be deemçd to be - 

(a) DocumentarY evidence 

(b) Oral evidence 

(c) Primary evidenèe 

(d) Secondary evidence  

IA\ qirTh rrat 3T(1SrTI 1872 TR1.i32 5I 
36. cptp-I ,,_ 

37' 
T 1T'* T ti p5T fT -B 

(a) ItiWT (b) 51WT 

(C) ,W1k5 TT .(d)  

5RU1 (A) a f TiT 132, 

'. 5RTI 

(a) t (A) ?iT (A)' u (A), (A) cOl 

(b) c  (A) T (R) 1T (R), "(A) 5T 

(C) (A) tJ5T (A) e1c1 

(d) '(A) 1TI, 115 (A)  

38. Match List — I with List — II and select the 
óorrect answer using the code given below the 

Lists:. 
List-1 
A) Refreshing the memories 

B) Dying declaration 

C) Leading question 

D) Hostile witness 
List—lI 
I) Section 159 2) Section154' 

3) Section32(l) 4) Section 141 

Code: 
A B CD 

(a) 1 3 4 2 
(b) 3 2 4 1 

(c) 4 1 2 3 

(d)l 2 

39. Which of the following is, not correctly 

matched? 
(a) Presumption as to document 

thirty years old — Section 90 

(b) Burden of proving that 
person is alive who has 
not been heard of for 
seven years — Section 108 

(c) Dumb Witnesses — Section 119 

(d) Presumption as to 
dowry death Section 113-A 

't91 ?1Tqr1 
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'42. 
tic11ct) IT 1T 

() 41 112T.113 (b) 112 

(C) 113 (d) 112113 

43 ii 5 * p1 

1151 3F o1l1 * 1?1 ¶l au -u 3tuc1cD 

(a) u'i  

(b) p EI1I1 tli1 'Ua-1 

(C) *iitt3 S  

(d) icI*ci rr iii fR i 

44 5t* '&iccM TY I 1R?11tii' 5L1 

atldil 
:u1TaT- 

(a) 'tjtiii#1 

(b) "iuil 

(C) 
(d) tTI 

45 i,if1 1872UT 

i431T? 

• " ..
• 

(a) -uii 11'&Icl 'Ia 

(b) ui 11c1.4 iii i4k '<iu t 

(C) R111 5TT i-l1H tI5lT 'utl 

• (d) 'uii.. 'ua' 

40.' In which one of., the following: cases, 
constitutional validity of Section 27 of the 
Indian Evidence Act was challenged on the 
basis of being violative ot Article 20 (3) of the 
Indian Constitution?' ' 
(a) State of U.P..V. Deoman Upadhyay: 
(b) State of Bombay V Kathikalu 
(c) lnayãtullah V1  State:of.Maharashtra 

'(d)' Nañdini SatpathiV: P L. Dani'. , 

41. 'Palvinder Kaur V. state 'Of Punjab relates to '4 
whjchoftlie:folloWing? 
(a) Dying declaration 
(b) Confession 
(c) Relevancy of Judgements 
(d) Entries in the books of account 

42 Which of the following sections of the Indian 
Evidence Act, 1872 deals with conclusive 
prod :: ,,'

,
' 

(a) 41,::112 and 113' (b): 112 
(c) 113 (d) 112 and 11 

"A confession even consists of cortvei salion to 
oneself, for it is not necessary for the relevancy 
of a confession that it should be communicated 
to some other person", was held in the case of 

(a) Shankaria V State of Rajasthati 
(b) Boota Singh V State of Punjab 
(c) Sahoo V State of U P 
(d) Nishikant Jha V State of Bihar 

44 A is tried br muider of B by intentionally 
shooting him dead The fact that A was in the 
habit of shooting at people with intent to murder 
him - ' '. 
(a) is relevant 
(b).' 'is irrelevant. ' 
(c) is relevant but cannot be proved 
(d) None of the above 

45.. Even a student. rm ay. :be treated as an exprt 
üñder Section 45' of the Indian. Evidence Aôt, 
1872, it was held by the Apex Court in - 
(a) Bhogmnbham Hirbhai V State of Gujarat 
(b) Kanpur University V Samir Gupta 

and other 
(c) Ram Prakash V State of Punjab 
(d)' Näthu SinghV. State of U.P. 

• 511i* 3T'1 

F(T 27 ISK1' T1T t %iRc4 11Ft 5 

3iW2O (3) jil5ct*.Ui 

H •, 

(a) . 

(b)  

(C) '  q -I41 NJ'  'IkI'1 

(d) d 1iH.&t2. II4 

.'.Icl1i'i .;l'•( d1IH tI1 11if9ci * 

(b) 

(C) ui'1tiii1i 

(d) 

40 
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46. Res Gestae is allowed as an exception to: 
(a) Confession 

• (b). Dying declaration 
• . (c) Hearsay evidence 

(d) Documentary evidence 

47. When the first session of the United Nations 
General Assembly was held? 

January 10, 1946. 
Januaiy 10, 1945 
January 10, 1947 
January 10, 1948 

48. Which one of the following organs of the United 
Nations Organisation perform Legislative 
functions? 
(a) The Trusteeship Council 
(b) The Security Council 
(c) The General Assembly 
(d) . The Economic and Social Council 

49. Which of the following Articles of U.N. Charter 
provides that the statute of ICJ is based on the 
Permanent Court of International Justice? 
(a) 90 (b)91 
(c) 92 •(d)102 

50. Under which Article of the UN Charter, the 
members of the United Nations have agreed to 
abide by the decisions of the Security Council? 
(a) Article 24 (b) Article 25 
(c) Article 26 (d) Article 27 

51. The budget of the International Court of Justice 
is approved by: 
(a) The General Assembly 
(b) The General Assembly and the ICJ 
(c) The Security Council 
(d) The Secretary General of the UN 

(a) 11t5 

(b) cdI11d • 

(C) 3IT5 

(d)  hTIT5 

47. . 
(a) • , HcI' 10, .1946 

(b) rt'iiil 10, 1945 

(C.) ji'-ic1 10, 1947 

(d) ticrl 10, 1948 

48. u 311T1T5 

(a). 

(b) .+tjf . • 

(C) 1T 

(d) 3T1i-il1tf 

tn ctl 

3r1lzr Inc1  cil ifr1. 

'-L4R1 c1  R 3ITTt1T ? 

(a) 90 • . (b) 91 

(C) 92 (d) 102. 

5 ct1 

(a) 24 • (b) 3tt 25 

(C) 3IE 26 (d) 31t 27 

51. iç'1 I-Ie1'-1 ct 134flci f15U 11cl1 
(a)  

(b) T3d'tI4 'KlIc1'-1 .I'tI 

(C)   T1TT 
(d) 5k1IRT 

4 

.52. The members. of the Economic and Social 
Council are elected for three years. How many 
members are elected every year? 
(a) Two third (b) Three fourth 
(c) One third ' (d) None of these 

HRMCE P2/A 

52. 3T1r5 311 1IHIlct cl'i jft Rii 

• . • 
(a) tfi • (b)  tiaT1 

• (C) 1ct1i, (d)  l*i 
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53. 'Which one of the following 'mentions that 
"Every one has the, Right to a'. Nationality"? 
(a) Geneva Convention, 1951 
(b)' United Nations High Commissioner 

for Refugees , ' ' 
(c) European Council on Refugees and 

Exiles. , ' 
(ci) 'Univetsal Declaration of Human Rights 

54. Sources 'of International Law are mentioned ii& 
the following article of the' :statute of,,.th 
International Court of Justice - 
(a) Article 38 (b) Article 35 
(è) Article 36 ' (d) Article 34 

55.' Each member of the Security' Council shall 
havô " 
(a) '4 representatives, '. •, 

(b) 5 representatives' ' '. ' 
(c) .2 representatives'' '' 

:(d) 1 representative ' ' ' 

56 Who has said, "We are a World in Pieces, We 
need to be a World at Peace" - 
(a) Kofi Annan 
(b) Bon Ki Moon , 
(c) Antonio Guterres 
(d) Michelle Bachelet " ' ' ' 

57. When did the Sustainable Development Goals 
ofUNDP cáme'into'effect? 
(a) 'March, 2016' 1 ' ' 

(b) May,2015 , ' ' ' ' 
(c) January,2016". : ' , 

(d) September, 2017 ' , ' ' 

58. International, Panel on Climate Change is the 
• leading international body established by - 
(a) United Nations Environmental' 

:PrOgramme. .' 

• (b) United Ntions Development 
Programme 

(c) World Maritime Organisation 
(d) United Nations Environmental and WOrld 

Maritime Organisation both 

"59.,,: WhIch Of thefoflowing executes the decisions 
of the International Court of Justice?'. 
(a) Military Staff Committee 
(b) General Assembly ' . 
(c) ICJ' itself 
(d)" Security council  

* f*  .f " l5 t 

(a) •i 
(b) '1is i-i  Rili 

(C) ctRici LF11 cto1Ic'<i 

(d ii'i icitI'i 3I1 11 

3Tdç I.1M-4 4 

(a) 3't 38 (b) 3tci 35 

(c) 3it 36 (d) 311,t 34 

T41 5 * 
(a) 4 áii1b 
(b) '5'1k 

'(c) 21T' . ,, = 
(d) i1iSiii 

• 'l Ixfl 

i 

(a) WaT 
(b)  
(C) 'ii 
'(d) ii1c 

5 j,c1 'Ulc1)Ri icsi iuil fcpi*i 

(a• 411cL2016*, 
(b) TT 2015* 
(c)' 20164 

'(d) 11ç1h1'& r 2O17* 

5.8. ,1e1qI 1iRcici 3W1l flT 1' .1e1QI 

(a) 1ct1 (Iç iikui ct4c1i 
(b), II'1ciI4c11 

(C) '1r 'iiioi 
(d) *icii it  gc'uI icti 3t 

,iiôicA'i'1. " ' ' 

59. • 4 ct;I'i 'I-4le1'.1 5 

1.li cD'c1I 

(a) N) 

(b) :Tii •' " '
• 

'(C) 1l4 UIe14 ' 

(d) ' 

53.  

54.  

55.  

56.  



60. The basis of United Nations Organisation is- 
(a) Sovereign equality. 
(b) Economic and Social advancement of 

all the people. 
(c) Cultural, economic and social 

advancement of all the people, 
(d) None of the above 

61. Purposes and 'principles of the United Nations 
are laid down in 
(a) Articles 2 and 3 ôfth UN Charter. 
(b) P.rticles I' and 2 of the UN Charter. 
(c) Articles 2 and 4 of the UN Charter. 
(d) Articles 1 and 4 f the U'NCharter 

62. Who was the first lady chief guestat 
Deepotsava organized in the year 2018 by the 
Uttar Pradesh Government at Ayodhya? 
(a) Kim Jung Sook 
(b) Soon 
(c) Aung San Suu Kyi 
(d) None of the above 

63. Match List — I with List — II and select the 
correct answer using the code given below the 
Lists: 
List—I 
A) Doctrine of subrogation 
B) Rule against perpetuity 
C) Feeding the grant by estoppel 
D) Doctrine of accumulation 
List —LI 
1) Section 92 . 2) Section 14 
3) Section 43 4) Section 17 
Code 

A B C D 
(a). 1 '2 3 4 
(b)4..2 3 
(c) 1 3 2 4 
(d) 3 2 4 

64. The Transfer of Property Act does not 
contemplate: 
(a) Actual notice 
(b) Implied notice 
(c) Notice in transaction 
(d) Imputed notice 

60. . 
(a) -'ii-ii -riT 

(b)' 

(C) Pi ci cijRct, 351? m-ii1ict  .ii1i 

(d) . . 

(a) t1i53t21?3 

(b) i1531tc 1 tZ2 

(C) 

(d) 

62 kl  1T 'ttct*t RT c1  2018* 3fl1ld l'-k'ici 

Twr411ciI 'Ta1? 

(a) 5m,rj5 ' 

(b)  

(C) 3TIIr 

(d) 

63. 
zrr 1ZfrT ct)(c .3ctl. 5I 1tT ct: 

A) cIM1I 

B)  
C) ¶1Rr3TFr 

D)  

II 
1). VTT92 .2)14. 

3)' j43 4)' VRT'17 

A B . C D'. 

(a) 1 2 3 4 

(b) 4 2 3 '1 

(c) 1 . 3 2 4 

(d) 3 2 4 1 

64. 31d'ui 3T 11s1cZ1 4-iIc1I  à11 

(a) ii1ct 1i 
(b) i1?i 
(C) 4 1oc1  3i)Ri 

(d) zflTici 1'tT 

61. 
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68. In which one of the following. Sections of the 
Transfer' of Property Act, the doctrine of 
Consolidation is incorporated? 
(a) Sectipn 60 (b) Section 61 

(c) 'Section 62 (d) Section 63 

69. Match List — I with List — II and select correct 
answer using.the code given below the lists 
List —1 . , List — II 

A) PiemiuW .1) Mortgage 

B) Universal donee 2) .Gift 
• C) Redemption '. 3) Lease 

D) . Purchaser . 4) Sale 
Code: 

'A Bc 

• .(a) 3 '2 :1 
•(b).2 3 '4 

'(c) 4 1 • 2 
(d) 1 4,3 

65. 1 Under Transfer of Property Act, 1882 when can 
an.. unborn person acquire vested interest on 
transfer for his benefit?' •  
(a) ' Upon his birth 
(b) Upon completing his rnajority.age. 

(c) Upon his marri8ge 
(d). None of the above' 

66, Which one of the following is not an 
immovable.property? 
(a) Right to collect tendu leaves 
(b) Right to catch fish 
(c) Right to Worship 
(d) 'Right of easenient 

67. In which one of the following cases, it,was held 
that partition ,is not a transfer of property? 
(a) V. N. Sarin V. Ajeet Kuma'r, AIR 1986' 

SC 432 
(b) Roked Chand V. Smt'. Rajeshwari .. Devi, 

'AIR 2009 NOC 3009 

(c) AbduiJabbar V. Venkata Shashtri, AIR 
1969 SC1147 

• (d) None of the above 

70. Which of the following, is nOt an essential 
element of lease? 
(a) Party. , . (b) Property 

(c) Partial Transfer. (d), Complete Transfer 

HRMCE P2/A  

wqf 3Ruj3TftW1, 1882' 3T? 3511?1 

f512 Tj fi 3TI 

tictxi1? 
(a)  
(b) rsilf 

(c) 1qrr fi ct  

(d)  

(a) ctt3If5R 

(b) T '4 5T3r5t 

(C) 3iiflT 5t 31f5R 

(d) itR5'f5! 

Thiti II1 Z151 3RR:JT .i  ? 

(a) . . 3TT511T 

.311.3Tft 1986 1ZE. . 432 

(b)  
u.31T.a1T. 2009 R3Itt 3009 

(C) 

1L3*.3iRi969iL#. 1147 
(d) i. Ii 

3TR'I 3 11T53T *Ad'i 

i5t rr [HTd fi5i1  

(a) .WT60 (b) iR161 

(C) .ThT62 . . (d) IRi63 

I5 
dcc5TtT5k: 

1 II 

A) .i . 1) t5 

B)' *ic'3 153TT?T 2) c1. 

C) iFT • 3)1.i 

D) '591 • 4) 15' 

A B. 

(a) 3' 2' 1 4 

(b) 2 3 ' 4 

(C) 4 1 
(d) 1 

70 ___ 
(a) rtw • ' (b) 
(C) 3ii53I1'tut (d) itJ131'&uI 

67. 

68.  

69.  

65.  

66.  

14 



71. Choose the cnrrect statement: 
(a) Tenancy at sufferance is the smallest 

interest which a person may probably 
get main immovable property. 

(b) Tenancy at sufferance may normally 
arise out of an agreement between the 
parties. 

(c) Transfer or will .of tenancy at 
sl4fferance is possible. 

(d) None of the above 

72. Which of the following is an actionable claim? 
(a) Copyright of a book 
(b) Muslim woman's claim for unpaid 

dower. 
(c) Right to get damages under law of Torts. 
(d) Claim for mesne profits 

73. What shall be deemed to be a leasein cases of 
agriculture lease in the absence of written 
contract or local usage? 
(a) From month to month 
(b) Of Eleven months 
(c) From year to year 
(d) Of twelve years 

74. Whic.h of the following sections of the Transfer 
of Property Act provides for the doctrine of 
substituted security? 
(a) 72 (b) 73 (c) 74 (d) 75 

75. Which property cannot be transferred? 
(a) A public office 
(b) A mere chance to succeed 
(c) A mere right of reentry 
(d) All of the above 

76. Doctrine of election comes under chapter of the 
Transfer of Property Act, 1 882 - 
(a) VII (b) Ii (c) IV (d) V 

77. The Criminal Law (Amendment) Act, 2018 
comes into force from 
(a) 11 August, 2018 (b) 21 April, 2018 
(c) 1 September, 2018 (d) 1 July, 2018 

78. In case of criminal misappropriation, 
subsequent intention must be 
(a) Fraudulent (b) Dishonest 
(c) Innocent : (d) Illegal 

IRM.CE P2/A 

71. 
(a) uio 3mh1T im fd * fr 

r1t Tc4d: 15t?1 3I *iM41i 11t?T d't 

(b) 1-tIJIjljct a1T-i'r 5Fl 5 

31ThNjctxlII 

(C) wOI rlId 31T mi T3F1'tU ff 

(d) 

72. 
(a) t15R 

(b)  
(C). 3l5?T ¶MT 5 31c14d c11I- 3W71 l5t 

(d) 

73. 
3T5HI41c1i rc) tTctl i? 
(a) 
(b) ii HIc 

(C)'  .ctiaf 

(d) 12 

74 4k4( 31'ciYI 3T iHR1cI TT 

(a) 72 (b) 73 (C) 74 (d) 75 

75. I3uI11ct)cii? 

(a) ilciqn ct 

(b)  
(C) 

(d) 3ginlr 

76. c11 TVFT 14 -lIr1 3i'c1I 3fii, 1882 5 

3T1.  5Pf13TmT- 

(a) VII (b) II (C) IV (d) V 

17. 3fl T( )3Tf.11I, 2Oi8T 

(a) 1131rRI,2O18 (b) 2131 t 2O18 
(C) I r 2018 (d) 1 c1l& 2O18 

78. 3qtT.TZI5 11Z1T 4 t'cicic!iT  aii 

(a) cqç qu (b) t1TFT 

(C) ¶rE1r (d) 3T.i 
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(a)  

(b)  

79. The'doctrine of joint liability' as envisaged by 
Section 34 of the Indian Penal Code, 1 860 is 
ba'ed 'on the decision of the.following - 
(a) Barendra Kumar Ghosh V. Emperor 
(h) Mulcahy V. . 
(c) Pandurang V. Stale of Hyderabad 
(d) Reg. V. Cruise 

30. Which of the' following colTibinations are 
correctly niatched? 
I) Harbour - Section 51 — A, LP.C. 
2) Wrongful Loss - Section 23, I.P.C. 
3) Gang rape on wOman under twelve 

years of age - Section 376 DB,1.PC. 
4) Gang rape - Section 376 — D LP.C. 
Select the correct answer using the code given 
below: 
(a) l,3and4 (b) 1,2and3 
(c) 2, 3 and 4 (d) 1, 2 arid 4 

81. Which of th following is not correctly 
matched? 
(a) Navtej Singh Johar V. 

Uiiion of India -Section 498 —A, 1.P.C. 
(b) K. N. Mehra .V, 

State of Rajasthan - Section 378, LP.C. 
(c) Niharendu Datt Majutridar V. 

Emperor - Section 124— A, I.P.C. 
(d) State of Haiyana V. 

Raja Ram - Section 361,I.P.C. 

82. Consider the following cases and arrange them 
• in chronological order: 

• W. Kalyani N; State through inspector 
of Police. 

2) Yusuf Abdul Aziz V. State of Bombay 
3) Joseph Shine V. Uniori Of.India 
4) V. Revthi V. Union of India. 
Select correct answer from the code given 
below:. 
Code: 
(a) 4,1,2,3 . (b) 2,4, 1,3 
(c) 1,3, 4 2 . (d) 3 2, 1, 4 

83. In whiëh ofthe following cases, the Supreme 
Court has remarked that 'husband is not the 
master of his wife'? 
(a) Joseph Shine V. Union of India. 
(b) Sarla Mudgal, President, Kalyani V. 

Union of India. 
(c) Lily Thomas V. Union of India 
(d). Kailash Singh V. Priti Pratihàr 

HRMCE P2/A'  

79 . Tf1T, 1860 34 
iifuc TfT t5T f'i*-RT' flH11fcf l5 

(a)  
(b) . 
(C) 
(d) 

80. t1fT? 
1) . 
2)  
3)  

TT5slciic<ifl - thT376-Er, 
4) 15acijc-i- 1376-tf,-1T.t. 

f?1111clIcdtPu!: 
(a) 1,33it4 (b) 1,233 
(C) . 2, 3 31 4 .(d) 1, 2 3t 4 

81. 
Il1 TTiu 

-1R14985, 
bL 

cc1 TT?.tT 9N 
124-5,°1T.4..' 
31Tq' UIITT J.ii'WT - 

TRT 361 

.82. flTt f1ffT 3th  

1); . d,cIu ITr ia::t  RT 311t15 

2) ziq 3g 31T flT1 315 ai 
3)  
4) . kR1 rr eTR1 4u 

(a) 4,1,2,3 (b) 2,4,1,3 
(C) 1,3,4,2 (d) 3,2,1,4 

83. j 15tcd1ti  

(a)  
(b) 'ti'tei ci, iU? i' nr 
(c) ficaiiiiiu 

(d) • 
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84. 'A' with intent to murder, administered a fatal 
dose of poison to 'Z.', and thn while 'Z' was still 
alive, a stranger 'B', without A's knowledge 
attacked 'Z' and shothim dead. 
(a) 'A' and 'B' both would be guilty of 

murder. 
•(b) 'A' would be guilty, of culpable 

homicide and 'B' would be guilty of 
murder 

(c) 'A'.would be guilty of an attempt to 
murder and 'B' would be guilty of murder. 

(d).. 'A' would be guilty of instigating 'B' to 
commit . murder and 'B' would be guilty 
of murder. 

85. "A', a police officer tortures 'Z' in order to induce 
'Z' to confess that he committed a crime; 'A" is 
guilty of an offence under - 
(a) Setiön .325 of the Indian Penal Code. 
(b) Section 326 of the Indian Penal Code. 
(c) Section 330 of the Indian Penal Code. 
(d) Section 331 of the Indian Penal Code.' 

86. 'A' who was entrusted by 'B' with certain blocks 
for printing a catalogue, prints catalogue of 
rival's finn with the same block. 'A' is guiltyof: 
(a) Criminal'breaëh of trust. 
(b) Criminal misappropriation 
(c) Cheating 
(d) Theft 

87. DisclosUre of identify of a victim of rape is 
punishable under - 
(a) Section 376- D,'LP.C. 
(b) . Section 376 - E, 1.P.C. 
(c) Section 228, 1.P.C. 
(d) Section 228 -A, I.P.C. 

88. No right of private defence of property 
available against the offence of: 
(a) Criminal breach of trust 
(b) Theft 
(c) Robbery 
(d). Criminal Trespass  

'  

Tldc1 3T3TR 

4-INS TflTI. 

(a) ,'3t J fl 

(b) ' 31rfR HHcT T5I 3'l(T 3T1t 

5• 7IT I5tZt e'l11i 311t (C) 

(ci). 

)3(q T 31d LJzn7RdI I 

,3.  

(a) 41Zf m 325 

(b) U1c1ITRT326 

(c) TRU  [tlRf 330 

(d) unItIRr331 

86. ' Thc q- %t) 5f5 

(a) 3WT1 

(b)  

(ci) wZli 

87. !1ciktPR rni)Rcii q t fc1)cj.uj : 

(a) IRT 376 - tt, 

(b) INi 376 - , 

(C) Rr 228, T.t; 

(d) 

88. Ii 
(a) 3U  r4M 
(b) tair 
(c)  
(d) au3i 1t 

is 

84.  

85.  

HRMCE P2/A , 17 ' P.T.O 



89. Match List - I with List S —' II and select the 
correct answer using the code given below the 
lists 
List-i 
A) Delively of Property 
B) Taking.of Prpperty 
C) Entrustment of Property 
D) Convertibility of property got 

innocently to one's own use 
List - II 
I) Criminal breach of trust 
2) Criminal misappiopriation of property 
3) Theft 
4) Extortion 
Codes: 

A B CD. 
(a) 4 3 1 2" 

'(b)3' 4 1 2 
(c) 4 '2 3 .1 

:(d)3 1 2 4 

90. Voyeurism is defined under which Section of' 
the Indian Penal.Code? 
(a) Section 354-A (b) Section 354 B 
(c) Section 354 C (d) SectiOn 355 

91. In which case, the Supreme Court unanimously 
ruled that individual aiitonorny and intimacy 
and identity are protected under fundamental 
rights? 
(a) Navtej SinghJohar V. Union of India 
(b) Suresh Kurnar Kaushal V. 

Naz foundation.. 
(c) Castle Rock .V Gonzales 
(d) None of the above 

• 92.. What is 'the rank of India ii the year 2018 
Global Hunger Index? 
(a) lO3 (b) 118th 

(c) 92 (d) 75th 

93. Who became the fifth Indian to be inducted in 
the .1CC Hall of fame recently?• 
(a) Anil Kumble. (b) Sünil Gavaskar 
(c) Rahul Dravid ". (d) .Kapil Deo 

94. Where the fourth BJMSTEC Summit was held 
in 2018 with the theme 'towards a peaceful, 
prospeIous and sustainable development of Bay 
of Bengal Region"? 
(a) . 'Katbmandu, Nepal (b) Thailand 
(c) India '' . (d) Myarirnar 

B) f5fHI. 

C) 'Mjrii . . 
0) TdId 1(q1ct11c1 

35Tfe1Hu 

ll 

1) .',. 

2) T1 
'3) ti)' 

4) ' 

A. B C D 

(a)'4 3 .1 2 " 

(b) 3 4 1 2 

(C). 4 2 3 1 

(d) 3' 1 2 4' 

90. c1cnelT Rc?ZT ttu 1T .TPT 1Tf1 

(a) .mT354- (b) .TRT354- 

(C) ffi 354:-If (d) TR1355 

91 T1ThR?FZI.3ttk1H 

octd fT 145 cY.411IcI 1Ic1d1 3l1 aic4)i 3ul 

(a) 1c1i ¶i 'tsi 1Ic1 thi 
(b) Tf1N  9c 

(c) Ti 

(d)  

92. 2018 T15T cNi 

(a) 103 If (b) 118' 

(c) 92Iff , (d) 75i 

93.' 3Tejc1 tT 0IR 311 ici 3TI155If* 

(a) ziyrt (b) 1Tiic1'ti't 

(c) . ' (d) ' 

94 ii ititi TI1TurJ  

33T t3WTT 

(a)' (b) n1g 
(c) . (dyrw' '. 

89. 
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95. What is the purpose of signing on MOU 
between Iridia and South Korea on November 5, 
2018? 
(a) For strengthening co-operation in the 

field of tourism. 
(b) ' For strengthening co-operation in the 

field of Science 
(c) 'Both(a)and(b) 
(d) None of the above 

96. Which Indian actor has been honoured with 
Distinguished Fellow Award in 'Boston in the 
year 2018? 
(a) Amir Khan (b) Anil Kapoor 
(c) Anupam Kher (d) Naseeruddin Shah 

97. United Nation's Climat Change Conference, 
November, 2017 was held in - 

,(a) Polland (b) Marrakesh 
(c) Paris (d) Bonn 

98. Which one of the following countries hosted 1 SI  

international Solar Alliance on 11 March, 
2Q18? 
(a) Bhutan (b) China 
(c) India (d) Pakistan 

99. Who won the 2018 Australian Open Women's 
Single title 
(a) Caroline Wozniacki 
(b) Serena Williams 
(c) Simona Halep 
(d) Elina Svitolina 

100. Which of the following seCtion of the Code of 
Civil Procedure, 1908 defines 'jurisdiction'? 
(a) Section 2 (9) (b) Section 9 
(c) SectiOn 15 (d) Not defined 

101. Assertion (A) : Acivil Court has jurisdiction to 
try all suits of civil nature 
Reason (R) : The cognizance of a civil suit 
should be expressly ban-ed. 
Select the correct answer using the code given 
below: 
Code: 
(a) Both (A) and (R) are true and (R) is 

the correct explanation of (A) 
(b) Both (A) and (R) are true and (R) is 

not the correct explanation df (A) 
(c) (A) is true, but (R) is false 
(d) (A) is false,'but (R) is true 

95.  5 TEI-#, 2018 T2IT r1uT ttZTT 5 r 1i1 3fr 
R 9TW cb '5T 

(a.) i11I! 

(b) 
(C) (a)T(b)'l. 
(ci) M*11 

96.  

(a) 3FcII (b) 31ici 
(C) 3tpj •(d) 1H 

97 cti iqFeM, 1è4 20173T12T- 

(a) (b) uci 

(C) erftf (d) 'ii 

98. 
2O18ih1? 
(a) (b) 
(c) wi (d). i?tciii 

99. 2018 3t1-1I if if5E fc1I 9Tt cll? 

(a) 

(C) iIHii  
(d) Riji cii 

lop. I ri *IIdI, 

(a) IRT2(9) ' (b) .Tru9 
(C) iir15 (d) 1mii 

101. 5JT(A) 
 ii ' 

cI'.ui (R) : iIc ct  Z151 45iN 3Tf1ifT 't * i1i1i 
lift1I1  I 

(a) (A) 3It (R) IT 3 (R), (A)1 Tk'I 

(A) 311 (A)  *c-1 31it(R), ('A) cDI, 
tct-LiI -It I 

(A) Icc1 (A) I 
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102. The maxim "Invito beneficium non datur" (The 
laW confers upon a man no rights or benefits 
which he does not desire) relates to which of the 
provision under the Code of Civil Procedure, 
1908? 
• (a) Section 26 
(b) Order 6, Rule .1 
à)' Section 148-A 

'(d) Order 23, Rule I  

102. ___ 
3fr i ii wii 

bci ) 1i1c 51T 1T, 1908 51I5f 

(a) .TRI26 

(b) aur6,IP:t1 

(C) TR1.148-5 

(d) 3lT23JTZfl 1  

103. Which of the following is not correctly 
• matched? 

(a) Presentation of plaint 
Section 26; Order 4, Rule I 

(b) Interpleader suits 
Section 88; Order 35, Rule 1 

• (c) Friendly suit — Section 90; Order 35 
• (d) Equitable set-off — Order 20, Rule 19(3) 

104. Which of the following statement/s is/are 
correct? 
1. The expressio1 "decree" includes a final 

order. 
2. Garnishi is a :person who is hable to pay 

a debt to a decree-holder or to deliver 
any movable proprty to him 

• Select the correct statement using the, code 
given below: 

• Code: 
• (a) lonly 

(b) 2 Only 
(c) both (I) and (2) 
(d) Neither (1) nor (2) 

105. Which section of the Code of Civil Procedure, 
1908 is clearly in the nature of a power to issue 

• a Writ of certiorari? 
(a) Section 11 
(b) Section 105 
(c) Section 115 
(d) Section 122 

106. It is a fundamental principle of pleadings that 
pleadings should contain a statement of material 
facts and material facts only. Which of the 
following case has defined material facts? 
(a) Udhav Singh V. Madhav Rao. Scindia 

(b) A. R. Antulay V. R. S. Nayak 
(c) State of Haryana V. State of Punjab 

(d) State of Uttar PradeshV. Nawab. Hussain 

104. 
1. 'tr ti 3f1 aii 3T   I 

2; 4fl&11l o4t1 , ift 1 cGIcu' T5t 4tvI 51 

• T 3• tt5: Tq1cd Z51 

cit3*TcitI 

41I!TN14c1I 5TU! 

(a) 1 

52 

(C) 13ii2cH' 

(d) 13'12 

03. 
(a) 
(b) 3R11fiIT cic - TTT 88; 31TT35 fjzpr 1 

(c) i-imgo;3uT35.  

(d). • il 311T20,SzPT19(3) 

105. fiIc si1i ifcn, 1908 I 

(a) RI11 

(b) mT105 

(C) IFtI115 

(d); tTRt122 ,• 

106. 3TfT 5T 1I5 3W1 fI ) 31t * 

iiftIi15 Tr3fl HI  iii 5T t 1fI ir 
 dIi?2 TlWf?I .  

(a) 3tT fi *IH *i 

(b) L31R. 3f HIH 3ThU?Th1.1ct 

(C) 315'fl'uIi  3flt5t1 

(d) 
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107. Which of the following combinations, are 
correctly matched? 
1. Judgement and decree - Section 34, C.P.C. 
2. Costs - Section 35, C.P.C. 
3. Institution of suits - Section 26, C.P..C. 

,4. Legal representative - Section 50, C.P.C. 
Select correct answer using the bode given 
below: 
Code: 
(a) 2, 3 and 4 (b) 1, 2 ànd'3 
(c) 1, 3 and 4 (d) 1, 2 and 4 

108. Match List — I with List' — II and select the 
correct answer using the code given below the 
lists 
List—I •  
A) Objections to jurisdiction 
B) Addition of Parties 
C) Constructive res,judicata 
D) Temporary injunction 
List—il 
1) Razia Begam V. Sahebjadi Anwar 

Begarn 
2) Kiran Singh V. Chaman Paswan 
3) American Cyanainid Co. V. 

Ethi con Ltd. 
4) Workmen V. Board of Trustees, 

Cochin Port Trust 
Code: 

A 
(a) 2 

B C 
4, 

D 

(b) 1• 3 2 4 
(c) 4 2 3 1 
(d) 3 4 1 2 

109. Suits relating to constitutional validity of 
statutory instruments are provided in - 
(a) Order 27 A, Rule 1-A of the C.P.C. 
(b) Order 34, Rule I of the C.P.C. 
(c) Order 32 A, Rule 3 of the C.P.C. 
(d) Order 37, Rule 2 of the C.P.C. 

110. Following is not a Public Officer' - 
(a) Every Judge 
(b) Every member of All India Service 
(c) Every officer in pay of Government 
(d) Every gazetted officer in military not 

under the government service 

107. i1fci ? 
1. t)T - 
2. - 

3.  

4. 5[RT TRT5O,1LT. 

(a) 2,33Tht4 (b) 1,233 

(C) 1,33I14 (ci) 1,2.3iC4 

108. 
[fl!cI 

• A) 3TT53tT 

B)  

C) i-gc 
D) 31o.4II 

• -II_ 
 

1)  

2)  
3): 

4) "ft 

A B C D 

(a) 2 1 4 3 

(b)i 3 2 4 
(c) 4 2 3 1 

(d) 3 4 1 :2 

109. lJ151TT  'TfT 

(a) 1fT 
(b) 3ITT 34, tizrrr 1 3ci4ci 
(C) 3ITT32 5, 3 fkr. 5 3T9T 

(d) 3flr37,r21sr.i. 

110. fd53Rr 

(a) 1Tl 

(b) 3T R IITcbi "1c I' 

(C) 

(d) 1i1  rr t,iqcj 3%it 1j t&ci'1 
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iii. Match' List I with List - II and select the 

correöt answer using the code given below the 

lists: 
List—I 

A) Right lodge caveat 

B). RetitUti0fl. 

C) Inherent 
power of court 

D) Suits of civil nature 

List—li 
1) Section 144 2) Section l48A 

Section 9 
3) Section 151 . 4) 

lii. _ __ 

5T - 5k: 

A)' 
B)  
C)  

D)  

, ' 

1) IF(I144 2) .iRT148Th 

4)UI9 

Code': 
A :B C D 

(a 2 1 3. 

(b) 1 2 4 . 

4: 
(c)2 3 

2 
(d) 3 4 1 

112. A civil court cannot issue comm-iSs1ofl 

'following case 
(a'

a person 

(b) 'For
jfljflgaCc0h1t1tS 

(c) To exectite partition 

(d) To execute a decree  

3) ' Tt151 

A CD' 

(a)' 2 1 . 
3 ' 4' 

(b) 1 2 4 

(C) 2 3 1 4 

(d)'3 4 1. . 2 

in the 112. 

(a)  
(b)  
(C)

555 

113. 

(a). ,iTT55 (b) ThT56 

(c) T,59 , (d) ii 60 

115. On wich one of the following:  grounds under 

the Civil Procedure Code,, 1908 a warraflt of 
arrest against a 'judgement debtor' may be 

cancelled by the court? 

(a) Serious illness , 

b) Appearance in marriage of his son 

(c) To cast vote in general elections 

(d) None of the above 

116. Section i'l 4 of the Code of Civil procedure 
should be read with: 

(a) Order 46, Rule 1
(b) Order 47, 'Rule I 

(c) Order 4,, Rule 3 (d) Order 41  

4. TTr 

z ifiT ire5?t 3ISI *? 

'(a) 
____ 

(b) '°'
5W1 

(c)  (d) - 
15.

T,190 3  

(a)'W 
(b)  

(c)  
'(d) 

116.
i14 

(a) 311T 46, ¶tw' 1 . , (b) . 3T5I 47, fzrr 1 

(c) 3ir47,iw3 ,' (d) ' 3Tt41 

C P C prohibits arrest or 

113. deteniOnOfWOhh1 the execution of a decree 

of money? 
(a)' Section 55 (b) Section 56 

(c) Section 59
(d) Section 60 

114, In which one of the following cases, it is held 

that "Inherent, powers has not 
been conferred on 

a court, it is a power inherent in a court"? 

(a) Rajni Bai V. Kamla Devi 

(b) Satyabrat Biswas V. KalyaflKu1 Kisku 

(c) P.C. Jairath V. Anirit Jairath 

(d) Manohar Lal V. Seth Hiralal 

22 
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(d) 

117. Assertion (A) : An agreement the object of 
which is opposed to the law, is void 
Reason (R) : A valid contract requires that 
parties must contract for a lawful. object 
Select the correct answer from the code given 
below 
Code:• 
(a)' Both (A).arid (R)are true and (R) is 

the correct explanation of (A) 
(b) Both (A) and (R) are true and (R) is 

not the correct explanation of (A) 
(c) (A) is true, but (R) is false 
(ci) (A) is false, but (R) is true 

118. Match List — 1 with List -- II and select the 
correct answer using the code given below the 
lists 
List — I (Content) 
A) Dominates the will of the other 
B) At the desire of the promisoc 
C) Contract to do or not to do something 
D) Where a' person lawfully does anything 

for another person 
List --.1! (COncept) 
1) Consideration 2) Quasi-Contract 
3) Undue influence 4) Contingent cOntract 
Code:. 

A. B C D 
.(a) 2 .3 4 1' 
(b)3 1 4 2 
(c) 4 . 2 1 3 
(d) 1 4 2 3 

119. Anagreemant, which is enforceable by law at 
the option of one or more of the parties thereto, 
but not at the opt ion of the other or others - 
(a) is a void contract 
(b) is an illegal contract 
(c) is a voidable contract 
(d) is an unenforceable agreement 

120. Which of the following statement is correct? 
The communication of an acceptance is 
complete, as against the a"cceptor - 
(a) When it comes to the knowledge of 

the acceptor 
(b) When it comes to the knowledge of 

the proposer 
(c) When it comes to the knowledge of 

acceptor .and proposer both 
(d) When it comes to the knowledge of the 

third party 
IRMCE P2/A. 

117. 
uf(R) :fc  3T 5R1l. 

(A) 3 (Fl) Z1ft rzT 3fl (Fl), (A) ?I5T 

(A) 3 (R)  'H'flZ1T (R), .(A) lt51 T 

I 

118. 
tTW ifl c j: 

lr) 
A) HTRT 

B) cttM1dIi31 

C) Id 19clifT 

D)  
fl1ci ffT 15 cfr.cfl 

lI(TeIT) 

1) 11c) 2) Ttf 

'3) rt3TT 4) 1IrT 

A B.0 
(a) 2 3 4 

.(b) .3 1. 4 

(c) 4 2 . 1 

(d) 1 4 2 3 

D 

2. 

3 



121, Following is a case on Promissory Estoppel- 

(a) KedarNath V. Gone Mohamed 

(b) Delhi Cloth and General Mills Ltd. V. 
Union of 'India 
Both (a)and (b) 
None of the above 

121. .11c)1i 5cIC*- 

() ..  

(b) el 5T2I H.C) { 5. tP 11 U 

(C) (a)3I(b)  
(d) Rt1. (c)  

(d)  

122. Which of the following is not correctly 

matched? 
(a) Coercion - Chikkam Amiraju V. 

• Chikkam Sesharnrna 
(b) Liquidated damages 

• Dunlop Pneumatic Tyre Co. V. 
New Gärag & Motor Co. 
impossibility of performance - 
Alopi Párshad.& Sons V. Union of India 

(d) Public Policy - Hadley V. Baxendale 

123. With reference to Traud' and 

'misrepresentation', which of the statement/S 

is/are correct? 
1. Both.re11der the contract voidable 

2. Fraud renders a cause of action in tort 
for damages. 

3. Simple misrepresentation is also a tort 
Select the correct answer usiIg the code given 

below,: 
Code: 
(a) I and 2 ' (b) 2 and '3 

(c) I and 3 (d) 1, 2 and 3  

122. 'T15 r r ? 

(a)  
(b)  I11kt - sicq f5 1ZF *. 

(c) q313 

TT  

(ci) II1i - 11 cNHc 

123. 
; u1 

2. t c1IC R1 

3 

d: 

(á)132 
(C) i3i3 

(c) 

(b) 233 

(d) i2:3i3 

124. 'A' promises 'B' to drop a prosecution which he 
has instituted against 'B' for robbery and !B' 
promises to restore the value of the things taken. 

(a) The agreement is .vid, as the 
consideration for it is unlawful. 

(b) The agreement Is void as the value of the 
things taken is uncertain 
The agreemnt.is void, as its object is 

unlawful ' 
(d) The agreen'ient is void, as the object of 

itis illegal . ' 

l25 Consider the following statements - 

• 1. Performance of a legal duty . is no 

consideratjon for a promise. 

2. Forbearance to sue has always been 
regarded as valuable ëonsideration 

3. It is not necessary that. consideration 
should be adequate to the promise 

Which of the above statement/s is/ire correct? 

(a) 1 only (b) 2 and 3 

(c) 1,2and3 • (d) 1.aiid2  

124. 
TT5zlT:, tt?  5t' cN'I ~ii ,31'' 

(a) 5TZr*, 

(c)*, *I  
(d) ci'u T*, zitth5 1c1)I 3tI I 

125. f11d 
1. rT5 

2 cTh c&I t TfFT Q1I tlzT1t:r ft5t5 

HHI 1l.BI
____ 

• • 3. 

I • 

(a) 51 ' (b) 233 

• (C) I, 23 3 •. (ci) 1 3fl 2 • 

(c) 

RRMCE P2/A
• 24 



126, The Indian Contract (Amendment) Act, 1997 
has amended: 
(a) Sectioii26 of the Indian Contract Act 
(b) Section 27 of the Indian Contract Act 
(c) Section 28 of the Indian Contract Act 
(d) Section 75 of the Indian Contract Act 

127. Change of the.nature of the obligation in a 
contract is known as -. 
(a) Rescission 
(b) Novation 
(c) Renovation 
(d) Alteration 

128. Under Section 68 of the Indian Contract Act, the 
minor - 
(a) is personally liable 
(h) only minor's property i liable 
(c) minor personally and his property both 

are liable 
(d) none of the above is correct 

129. 'Continuing Guarantee' has been defined under: 
(a) Section 124 of the Indian Contract Act 
(b) Section 129 of the Indian Contract Act 
(c) Section 146 of the Indian Contract Act 
(d) Section 148 of theIndian Contract Act 

130, Match List — I with List — II and select the 
correct answer using the code given below the 
lists: 
List — I 
A) Doctrine of frustration 
B) Special damages 
C) Anticipatory breach of contract 
D) Cross-offer 
List—II 
1) Taylor V. Caidwell 

• 2) Hochester V. De la Tour 
• 3) Tinn V. Hoffman & Co. 

4) Hadley V. Baxendale 
Cocles: 

A B CD 
(a) I 4 2 3 
(b) 2 4 3 1 
(c)3, 
(d) I 

4 
,2 

1 
3 

2 
4 

131. An agreement Of wager is - 
(a) voidable (h) unlawful 
(c) . void (d) void and unlawful 

126. 1997%f5ZlT 

(a) iir26t 
(b) thT ii 3TIT1?11 VFU 27  

• (C) Rcik- tT 3T1zPt ctS1 t1fT 28 I 

• (d) 

127. 
(a) 

(C) 

(d) 1i1ici 

128. 1ZN TU 68 l53I 13*ct' - 

(a) • z  
(b)  
(C) I 
(d) 

129. 'tic5cl wmr 11Ti1t - 
(a) T3TfI T1245 3ii4ci 
(h) 3ZTT  1RT1295 3 1f9' 
(C) R 3171T??i 
(d) '1WcT 13TflT1TZTI l t1TT 148 5 314c1 

130. 

A) iftii. 
B)  

C) t)CTI-WT 

D) cPI1citc 

1)  

2) mJi 
3)  

4)  

A. B C D 
(a) .1 4 2 3 
(b) .2 4 3 
(C) 3 4. 2 
(d) 1 2 3 

131. 5R: 

(a) (h) 
(c) (d) 
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matched?' 
Complaint - Section 2(d), Cr.P.C. 
Police report - Section 2(r), Cr.P.C. 
Contents of Judgement 
Section 354, Cr. P.C. 

(ci) Victim Compensation Scheme - 
Section 357, Cr. P.C. 

1 35. A Criminal Proceeding which is not 
compoundable can be quashed by - 
(a) The Judicial Mapistrate First Class 

(b) The District and Session Judge 
(c) The High Court 
(ci) The Supreme Court 

(a)  
(b)  
(c)  

Z4 r aif'ri 
136. 

13.2. In which .othe following sections, the Indin 
Contract Act ernbodis the rule of Claytonts 
case relating to apptopriation of payments.? 

(a) Section 62 
(b) SectiOn 59 
(c) Section 58 
(ci) Section 61 

1 3. The court of a Chief Judicial Magistrate may 
pass 
(a) Any sentence except imprisonment for life 
(b). Sentence of imprisonment not exceeding 

three years 
(c) Sentence of imprisonment for a term upto 

seven years 
(d) Sentence of imprisonment for a term not, 

exceeding ten years 

134. Which of the following  

132. 1I 31T l TTdY 5 f i'li• i1RT. 

? . . 

(a) Ti'62 . . . 

(b) tTRT59 

(C) PRT58 . 

(d) TFU61 

133. 1 iift 'tici1 

(a) 3mT aT * 

(b) TI51ct*tKTh1 

(C) 

(d) 1331Rld1I'1 

134 11HI?T '1 11' r' 

(a) t-U2().. 

(h) 
(c) f 3T RT 

(d)  

135. 

(a)  
(b)  
(C) IeiRi 

(d) 

is not correctly 

136. Assertion (A) : Where an ccused person has 
pleaded guilty and has been convicted on such 
plea, there shall be no appeal. 
Reason (R): A person,who delberate1y pleads 
guilty cannot be aggrieved by being convicted. 
Select the correct answer using the code given 
below: 
Code: . , 
(a) Both (A)and (R) are true and (R) is 

the correct explanation of (A). 
(b) Both (A) and (R) are true and (R) is 

not the correct explanation of (A). 

(c) (A) is True, but (R) is False. 
(d) (A) is False, but(R) is True. 

HRMCE P2/A .
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l37.'aTT'u /? 
1) tU 5ZTJ cff, 1973 3T 3Th1tT 

1 3tR1U 15T 5R 'idi *.1i1T 3TffT 
r 

2) . rfl' 715'i c:c i 3fl'V5 

3I f 1oT11q. 
e1tlI 11T ictxii 

'(a) l5ar1 (b) 5TT2 
(C) i1'13it2 (d) Tft13fir2 

138. fII5 tc'&l c1kl 31q 1LlI  

c1I- 

(a)' 311 

(b) fi'i Ia'-f t 3itT lHc1l' 

(C) 

3T. rtI 
(d) 

'&clI 

A B 0 D 
(a).2 4 13 
(b) 1 3 4 2 
(C) 4 2 3 
(d). 3 4 ' 1 

140. nu  Wf15tTT '!iclL 1973 I1cl 1*f 1T;tT 
fàfi (t1i) ai iirwr, 2018 wo thMrrr 

'(a) TRT 163 (b) i1T173 
(C) tThT183 (d) mi 

27 P.T.O. 

137, With reference to the "Charge" which of the 
statement is / are correct? 
1). 'Every charge under the code of Criminal 

Procedure,, 1973 states the offences with 
which the accused may be charged. 

2) If in the course of same transaction, mre 
offences than one are coiiimitted by the 
arne person, he can be charged at one 

trial. 
Select thebonect answer using the code given 
below: 
Code: 
(a) 1 only . (b) 2 only 
(c) Both 1 and 2 . (d) Neither I nor 2 

138,. In the case of a continuing offence a fresh 
period of limitation commences - 
(a) from the date of the offence 
(b) on the first day on which such offence 

comes, to the knowledge of any police 
officer. 

(c) on the first day on which the identity 
of the offender is known to the person 
aggrieved by. the offence. 

(ci) at every moment of time during which 
the offence continues. 

139. 1\'latch List — I with List— II and selectthe 
correct answer using the code gri'en below the 
lists 
List—I 
A) Anticipatory bail 
B) Cognizance on complaint 
C) Language of Courts 
D) Security of good behaviour from 

habitual offenders. 
List—TI . 
1) . Section 272, Cr. P.C. 
2) . Section 110, Cr. P.C. 
3) Section 438, Cr. PC. 
4) Section 190, Cr. P.C. 
Code: 

A B CD 
(a) 2 4 1 '3 
(b) 1 3 4 2 
(c) 4 2 3 1 
(d) 3' 4 1 2 

140. Which of the following section of. the Code of 
Criminal Procedure, 1973 has been amended 
by the Criminal Law (Amendment) Act, 201 8? 
(a) Section 163 (b) Section 173. 
(c) Section 1 83 (d) Section 193 

RMCE P2/A 



• 1.41. The maxim "Nemo debet bis vexari pro eadem 
causa" finds place in which of the following 
section. of the Code of Criminal Procedure, 
1973? 
(a) Section 299 (b) Section 300 
(c) Section 301 (4) None of the above 

142 When an appeal has been filed 'under Section 
374 of the Code of Criminal Procedure 1973 
against a sentence passed under,Section 376- D 
of the Indian Penal Code, the appeal shall be 
disposed of - 
(a) Within a period of'.si months from 

the date of filing of such appeal. 
(b) Within a period of.three months from 

the date of filing of iuch appeal. 
Within a period of nine months from 
the date of filing of such appeal. 
Within a reasonable period. - 

143. Which provision of the C. P.C. resembles with 
Habeas Corpus writ? 
(a) Section 91 (b) Section 93 
(c) Section 97 (d) Section 96 

144. When a search is required to be conducted 
• outside India, a' criminal 'court may require 
under section 166 — A of- the code of Criminal 

• Procedure to issue a - 
(a) Search Warrant 
(b) Letter of requisition 
(c) Letter of request 

• (d) Written order 

145. "The bail is rule, jail is exception" This rule is 
laid down by the Supreme Court in: 
(a) ioginder Singh V. State of U.P. 
(b) Pritam Singh V. State of Punjab. 
(c) Moti Ratn-V State of MP. 
(d) Rajurnar'i V. State of U.P.  

* ___ __ 
f1T eiH1 'ciII', Sii '1ii, 1973 t 

Hd 1T*? 

(a) TR1 299 (b) V1T 300 

(C) - TFT301 - (d) 

(C) 

(ci) 

143. u[5ZH41I  ct'&uI 1 

• ici' 

(a) .rRT91 ' - (b) IRr93 

(c) TRT 97 (d) !XrT96 

144. ciuS [IfT t .1RT 166 - 5 311I ol dC1I 

iwf I5 lc ' ?IT cSsca -lc1'-1 .i1I' Z5 '1ctx1I 

(a) rtcii cu'&', 

(b) sifiti t 

(C) 

@) 13T1tT '• 

145. 
"ci-lRIZI5flV-1I- 

(a) 1c '-1lH ici  tT  

(b)  
• (C) i'c1ITT1Th. &l • 

• (d) till 3.11. T1 - 

146. 1it 5U? 1cii 

• (a) uu. 53 • (b) ViT 54 ' 

(c) • RT 55'. ' (d) ivi 64 

a 

146. The provision of examination of arrested person 
by' medical officer is provided under which 
section of the Code of Criminal Procedure? 
(a) SectiOn 53 (b) Section 54 
(c) Section' 55 (d) Section 64 

(c)  

(d)  

141.  

142. t5 TFIZI  1fcii t -T1T 376 - 5 3thf1ftI 

U6 *1T fcii, 1973 ttffT 374 5 

lI 
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147. Under Section 164 — A of the COde of Criminal 
Procedure, 1973 the victim of rape shall be sent 
to a registered medical practioner for 
examination within from. the time of 
receiving the information relating to the 
commission of such offence - 
(a) 6 hours (b) 12 hours 
(c) 24 hours (d) 36 hours 

148. In which of the following case, the Supreme 
Court held that written statement can be 
submitted even after expiry of 90 days from the 
date of Service of Summons? 
(a) Kailash V. Nanhku 
(b) 1-larish Chandra Bajpai V. Triloki Singir 
(c) Salim Bhai V. State of Maharashtra 
(d) Daryao V. State of U.P. 

149. "Dasti" Summons for Service on the defendant 
can be given to the plaintiff under - 
(a) Order 5 Rule 9 — A, C.P..C. 
(b) Order5Rule9,C.P.C. 
(c) Order 4 Rule 7, C.P.C. 
(d) Order 6 Rule 6, C.P.C. 

150. The case of Dudh Nath Pandôy V. State of U.P. 
is related to 
(a) Res gestae 
(b) Plea of alibi 
(c) Admission 
(d) . Accomplice 

147; cU5 ifii, 1973 V1T 164 5 31PT 

1c)R it fa# t dl ZI5'T 3T'R1T t iici 

15  

c1d5k1 5f1T'll -. 

(a) 6lR, (b) 121 

(C) 24t (d) 36T 

148. 1liiRif ii t ?1t .1Tfk1ft5ZT f 
• 

1ix1l 

• (a) Tr 

(b) ai 
(c)  
(d) w.iicf FfP l*T TT 

149.  

(a) 3TT 5 fiTr9 5 fT.UE. 5 3Rl11 

(b). nr 5 Thzt 9, * 

(C) 311T 4 ZB 5 3T1T 

(d) 311T6f 16,i1113 11cII5 3ct1cT 

150.  
(a) iP' .. 

(b)  
• (c)5T 

(d) -31T 
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